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Model Test 3(General Tamil) - TNPSC Group 2 (A)
1. rhpahd nghUs; jUf 

„Mak;‟ 
A) nrtpypah; $l;lk; B) ghzd; $l;lk; 

C) Njhopah; $l;lk; D) midj;Jk; 

2. „vd;Dila ehL‟ – vd;Dk; ghly; ,lk; 
ngw;Ws;sj; jiyg;G 

A) rKjhakyh;  B) fhe;jpkyh; 

C) Njrpakyh;  D) ,irkyh; 

3. nghUe;jhj njhliuf; fz;lwpf 

A) ,ope;j gpwg;gha; tpLk; 

B) gpwg;nghOf;fq; Fd;wf; nfLk; 

C) Vjk; gLghf; fwpe;J 

D) nry;tj;Jg; gaNd <jy; 

4. „mltpkiy ahnwy;yhk; fle;J Nghfpj; 

jpz;zKW jle;NjhSk; csKq; nfhz;L‟ 
mbf;Nfhbl;l nrhw;fSs; nghUj;jkhd 

,yf;fzf; Fwpg;igf; fz;lwpjy;. 

A) ctikj;njhif> chpr;nrhw;nwhlh; 

B) ck;ikj;njhif> cUtfk; 

C) mLf;Fj;njhlh;> tpidj;njhif 

D) ck;ikj;njhif> chpr;nrhw;nwhlh; 

5. nghUswpe;J nghUj;Jf 

a) murd; 
te;jJ 

1. ghy; tO 

b)fgpyd; 
Ngrpdhs; 

2. vz; tO 

c)Fapy;fs; 
$tpaJ 

3. ,l tO 

d) fkyh 
rphpj;jha; 

4. jpiz tO 

 a) b) c) d) 
A) 4 1 3 2 

B) 4 1 2 3 

C) 1 4 3 2 

D) 3 2 1 4 

6. nghUj;Jf 

a) mhp 1. gidNahiyg; 
ngl;b 

b) nrW 2. GJtUtha; 

c) ahzh; 3. tay; 

d) tl;b 4. new;fjph; 

 a) b) c) d) 
A) 4 3 2 1 

B) 1 2 4 3 

C) 3 4 1 2 

D) 4 2 3 1 

7. “gRTk; fd;Wk; Njhl;lj;jpy; Nka;e;J 
nfhz;bapUf;fpd;wd” ,j;njhluhdJ 
vk;nkhop tifiar; rhh;e;jJ? 

A) jdp nkhop  B) nrk;nkhop 

C) njhlh; nkhop  D) nghJ nkhop 

8. ,yf;fzf;Fwpg;gwpjy; 
gpd;tUk; ,yf;fzf; Fwpg;Gf;Fg; 
nghUe;jhjr; nrhy;iyj; Njh;e;njLf;fTk; 
tpidj;njhif 

A) nghq;Fjhkiu B) G+jug;Gak; 

C) miyfly;  D) mfy;Kfpy; 

9. xUik gd;ik gpiofis ePf;Ff: 
ehd; thq;fpa Ehy; ,J my;y. 

A) ehd; thq;fpa Ehy; ,/J my;y. 

B) ehd; thq;fpa Ehy; ,/J md;W. 

C) ehd; thq;fpa Ehy; ,J md;W 

D) ehd; thq;fpd Ehy; ,J md;W 

10. „fspw;W kUg;G‟ - ,yf;fzf;Fwpg;G $Wf: 

A) tpidj;njhif   

B) ,uz;lhk; Ntw;Wikj; njhif 

C) ,Unganuhl;Lg; gz;Gj;njhif 

D) Mwhk; Ntw;Wikj; njhif 

11. gphpj;njOJf: 
ed;fzpah; 

A) ed;F+mzpah; B) ed; +mzpah; 

C) ehd;F+mzpah; D) ed;F+fzpah; 

12. ckWg; Gyth; ahUila Ntz;LNfhspd;gb 

rPwhg; Guhzj;ij vOjj; njhlq;fpdhh;? 

A) mg;Jy; fhjph; kiuf;fhah; 

B) mGy; fhrpk; 

C) fhjph; KifjPd; 

D) fbif Kj;Jg; Gyth; 
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13. nghUj;Jf: 

1. tpRk;G - je;jk; 

2. Jiy - neUg;G 

3. kUg;G - Jyhf;Nfhy; 

4. fdy; - thdk; 

A) 4312   B) 2134 

C) 1342   D) 4321 

14. „fhh; mWj;jhd;‟ – vt;tif MFngaiur; 

rhh;e;jJ? 

A) rpidahFg;ngah;  

B)njhopyhFg; ngah; 

C) gz;ghFg; ngah;  

D)fhythFg; ngah; 

15. nrhy;ypir msngil Njh;f. 

A) cz;gJhck;  B) ngwhmtpbd; 

C) joP,   D) mz;zd; 

16. Ie;jpiz> Ik;ghy;> Ik;Gyk;> Ik;nghwp  
,it ------- MFk;. 

A) ngah;r; nrhw;fs; B) tpidr;nrhw;fs; 

C) njhif;r nrhw;fs; D) ,ilr;nrhw;fs; 

17. Njd;nkhop fl;Liu vOjpyd; ,J ----------- 
njhlh; MFk;. 

A) cld;ghl;Lj; njhlh;  

B) vjph;kiwj; njhlh; 

C) nghUs;khwh vjph;kiwj; njhlh; 

D) maw;$w;Wj; njhlh; 

18. nrag;ghl;L tpidj;njhliuf; fz;lwpf. 

A) FbauRj; jiyth; cyfj;jkpo; 
khehl;ilj; njhlq;fp itj;jhh; 

B) ghj;jpkh jpUf;Fws; fw;gpj;jhs; 

C) cyfj;jkpo; khehL FbauRj; 
jiytuhy; njhlq;fp itf;fg;ngw;wJ 

D) ehd; ehis kJiuf;Fr; nry;Ntd; 

19. gpio ePf;fp vOJf? 

„fz;lijf; $wNt‟ 
A) fz;lJ $wNt  

B) fz;lij $wNt 

C) fhz;gJ $wNt  

D) fz;ljidf; $wNt 

20. ePh;> ePtph;> ePq;fs; Mfpad -------- ngah;fs;. 

A) Kd;dpiy xUik  

B) jd;ik xUik 

C) Kd;dpiyg; gd;ik  

D) jd;ikg; gd;ik 

21. „X‟ vd;w XnuOj;J xUnkhopapd; nghUs; 

A) cah;r;rp  B) Jha;ik 

C) kfpo;r;rp  D) nfhs;fyk; 

22. Mz;gy; mbeh KbTwj; --------- tUk;. 

A) je   B) gk 

C) uo   D) wd 

23. tapw;Wf;Fk; vd;gjpy; tUk; ck;ik 

A) Kw;Wk;ik   

B) vz;Zk;ik 

C) cah;Tr; rpwg;Gk;ik  

D) ,opTr; rpwg;Gk;ik 

24. gpd;tUk; ,yf;fzf;Fwpg;Gf;F nghUe;jpa 
nrhy;iyj; Njh;e;njLf;f: 
chpr;nrhw;nwhlh; 

A) neLehtha;  B) edp fbJ 

C) ed;Djy;  D) epd;Nfs; 

25. jioah ntg;gk; jiof;fTk; vDk; 

njhlhpy; jio vd;gJ 

A) ngaHr;nrhy; 

B) <Wnfl;l vjpHkiw nganur;rk; 

C) tpidr;nrhy; 

D) chpr;nrhy; 

26. mty; vjpHr;nrhy; 

A) gs;sk;   B) NkL 

C) mtd;   D) czT 

27. nghUj;Jf: 

A) xg;GuT 1. rhd;whz;ik 

B) rhy;G 2. cjTjy; 

C) khw;whH 3. ciufy; 

D) fl;lis 4. giftH  

 a b c d  

A) 2 4 1 3  

B) 4 3 2 1  

C) 3 1 4 2  

D) 2 1 4 3 

28. fz;zd; vd;gJ ------------- gFgjk; MFk;. 

A) nghUl;ngaH  B) rpidg;ngaH 

C) gz;Gg;ngaH  D) tpidg;ngaH 

29. ehd;> ahd; vd;gd 

A) jd;ik xUikg; ngaHfs; 

B) jd;ikg; gd;ikg; ngaHfs; 

C) glHf;ifg; ngaHfs; 

D) Kd;dpiyg; ngaHfs; 

30. cjLfs; ,uz;Lk; nghUe;Jtjdhy; 

gpwf;Fk; vOj;Jf;fs; 

A) f; q;   B) Q; l; 

C) a; H   D) g; k; 
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31. Fotp vd;gjd; nghUs; 

A) xUtifj; NjdP B)xUtiff; FUtp 

C) Foe;ij  D)xUtifj;jhtuk; 

32. nghpahH ngz;fSf;F kpf Kf;fpak; 

vd;wit 

1. mwpT   2. eif 

3. moF   4. Rakhpahij 

A) 1>2 – rhp  B) 1>3 – rhp  
C) 2>3 – rhp   D) 1>4 – rhp  

33. ,uhkrhkpf;Fg; „nghpahH‟ vd;W gl;lk; 

toq;fpatH 

A) ez;gH   B) cwtpdH 

C) jha;khH  D) ngw;NwhH 

34. 4 vd;w vz;izf; Fwpf;Fk; jkpnoOj;J 
vJ? 

A) m   B) r 

C) c   D) U 

35. gphpj;njOJf: 
ntt;tpUg;ghzp 

A) ntk;+,Uk;G+Mzp 

B) ntk; +,Ug;G+Mzp 

C) ntk;ik+,Uk;G+Mzp 

D) ntk;ik+,Ug;G+Mzp 

36. nghUe;jh ,iziaf; fz;lwpf 

A) igAs;-,d;gk;  B) gdtd;-e;jzd; 

C) tpGjh;-Gyth;  D) my;F-,uT 

37. Mq;fpy nrhy;ypw;F rhpahd jkpo; nrhy; 
ahJ? 

“Indian Succession Act” 

A) ,e;jpar; rhd;Wr; rl;lk; 

B) ,e;jpa chpikr; rl;lk; 

C) ,e;jpa thhpRhpikr; rl;lk; 

D) ,e;jpa murpay; mikg;Gr; rl;lk; 

38. nghUj;Jf: 

A) ngah;r;nrhy; - te;jhd; 

B) tpidr;nrhy; - Ie;Jk; 
MWk; 

C) ,ilr;nrhy; - khtPud; 

D) chpr;nrhy; - Ntyd; 

A) 1432   B) 4123 

C) 3412   D) 4132 

39. Fuy;tsj;ij Nkk;gLj;Jk; %ypif 

A) JhJtis  B) Qhdg;gr;rpiy 

C) Fg;igNkdp  D) fw;whio 

40. jdpr;nrhy; ,d;wp ehd;fbaha; tUk; 
ntz;gh 

A) Fws; ntz;gh  

B) Nehpir ntz;gh 

C) ,d;dpir ntz;gh 

D) g/nwhil ntz;gh 

41. nghUj;jkhd gonkhopiaf; fz;lwp 

„fw;wtDf;Ff; fl;Lr; NrhW Ntz;lh‟. 
A) Qhapiwf; ifkiwg;ghh; ,y; 

B) Ks;spdhy; Ks;fisAk; MW 

C) Mw;Wzh Ntz;LtJ ,y; 

D) ghk;G mwpAk; ghk;gpd; fhy; 

42. xyp NtWghlwpe;J rhpahdg; nghUis 
vOJf: 
thiy-this 

A) ,sk;ngz;-kPd;tif 

B) kPd;tif-,sk;ngz; 

C) kutif-kPd;tif 

D) ,sk;ngz;-kutif 

43. nghUj;Jf: 

A) tpGjh; - me;jzd; 

B) gdtd; - ,uT 

C) Ntzp - Gyth; 

D) my;F - nrQ;ril 

A) 3142   B) 2143 

C) 2341   D) 3412 

44. Ez;zpa Ehy; gy fw;wth;f;Nf mike;j 
mhpa fiy vJ? 

A) Ngr;Rf; fiy  B) Xtpaf;fiy 

C) ,irf;fiy  D) rpw;gf;fiy 

45.  „#hpa xsp ngwhj nrbAk;> gFj;jwpT 

xspngwhj rKjhaKk; tsh;r;rp milahJ‟ 
vd czh;e;jth;. 

A) ghujp   B) Rujh 

C) ghujpjhrd;   D) ftpkzp 

46. nghUs; jUf: 

„kahp‟ 
A) cwf;fk;  B) jaf;fk; 

C) kaf;fk;  D) fyf;fk; 

47. Mapuk; ahidfisg; Nghhpy; nfhd;w 
tPuidg; Gfo;e;J ghLk; ,yf;fpak; vJ? 

A) cyh   B) JhJ 

C) guzp   D) gs;S 

48. „clk;ghh; mopapd; capuhh; mopth;‟ vd;w 
$w;W ahUilaJ? 

A) jpU%yh;  B) jpUehTf;furh; 

C) ,uhkypq;fmbfs; D)jpUQhdrk;ge;jh; 

49. nghUe;jhjijj; Njh;e;njLj;J vOJf: 
fLntspr; rpj;jh; mwpTiufs; 
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A) ngz;fisg; gopj;Jg; NgrhNj! 

B) ghk;NghL tpisahlhNj! 

C) Nghyp Ntlq;fisg; NghlhNj! 

D) jPnahOf;fk; nra;ahNj! 

50. mfehDhw;wpy; Kjy; 120 ghly;fs; 
mlq;fpa gFjp 

A) epj;jpyf;Nfhit 

B)kzpkpilg;gtsk; 

C) fspw;W ahiuepiu  

D) ntz;ghkhiy 

51. njhifr; nrhy;iy tphpj;njOJf: 
ehdpyk; 

A) FwpQ;rp> Ky;iy> kUjk;>nea;jy; 

B) FwpQ;rp> Ky;iy> nea;jy;> ghiy 

C) FwpQ;rp> Ky;iy> kUjk;> ghiy 

D) Ky;iy> kUjk;> nea;jy;> ghiy 

52. rhfpj;jpa mfhjkp ghpR ngw;w fz;zjhrd; 

Gjpdk; 

A) Ml;lde;jp Mjpke;jp 

B) khq;fdp 

C) Nrukhd; fhjyp 

D) mq;faw;fz;zp 

53. „fPo;f;fhz;gtw;Ws; fk;gh; vOjhj E}y; 

vJ? 

A) rlNfhgue;jhjp 

B) ru];tjp me;jhjp 

C) jpUf;if tof;fk; 

D) njhd;D}y; tpsf;fk; 

54. ghujpahh; trd ftpij vOj ce;Ejyha; 

,Ue;j mnkhpf;ff; ftpQh; 

A) thy;l; tpl;kd; B)N`hh;l;];nthh;j; 

C) fPl;];   D) N\f;];gpah; 

55. „I‟ vd;gjd; nghUs; 
A) fz;   B) ehd; 

C) moF   D) mk;G 

56. [p.A.Nghg; mth;fSf;F jkpo;kPJ gw;W 

cz;lhtjw;Ff; fhuzkhf ,Ue;j E}y 

vJ? 

A) mfehD}W  B) GwehD}W 

C) Iq;FWE}W  D) ghpghly; 

57. „rhd;Nwhh; ghyh; Mg 

rhyhh; rhyhh; ghyh; MFgNt‟ ,t;tbfs;  
- ,lk; ngw;Ws;s E}y; vJ? 

A) ew;wpiz  B) FWe;njhif 

C) GwehD}W  D) mfehD}W 

58. “ntQ;rpd tpwy;Ntw; fhisnah 

lQ;rp Nyhjpia tuf;fiue; jPNk” 
- ghbath; ahh;? 

A) fgpyh;   B) Ngadhh; 

C) Xuk;Nghfpahh;  D) Xjyhe;ijahh; 

59. „rPijiaf; fz;Nld;‟ vd;Dk; njhlh; 

A) tpspj; njhlh;  

B) nganur;rj;njhlh; 

C) tpikKw;Wj; njhlh;  

D) chpr;nrhw;nwhlh; 

60. „xU igrhj; jkpod;‟ vd;w ,jio 

ntspapl;lth; ahh;? 

A) mNahj;jpjhrg; gz;bjh; 

B) jpU.tp.f 

C) mUk;gjciufhuh; 

D) rhdfpuhkd; 

61. „mwTiuf; Nfhit‟ vd;wiof;fg;gLk; E}y; 
A) KJnkhopf; fhQ;rp 

B) ehd;kzpf;fbif 

C) gonkhopehD}W 

D) ehybahh;; 

62. thdk;ghb ,af;fk; jkpo;ehl;by; vq;F 

nray;gl;lJ 

A) nrd;id  B) kJiu 

C) Nfhit  D) jpUr;rp 

63. c.Nt. rhtpd; jopo;g;gzpiag; ghuhl;ba 
Nkiyehl;lth; 

A) Nfhyhpl;[;   

B)Nthh;l;];nthh;j; 

C) fPl;];    

D)#ypay; tpd;Nrhd; 

64.  „gpUq;fuhrk;‟> „Njfuhrk;‟ – ve;j 
%ypifapd; NtW ngah;fs; 

A) Fg;igNkdp  B) fhpryhq;fz;zp 

C) fwpNtg;gpiy  D) fw;whio 

65. ,ilr;nrhy; fz;lwpf 

A) jt   B) ele;jhd; 

C) jhkiu   D) kw;W 

66.  „rpj;jpuf;fhug;Gyp‟ vd;wiof;fg;gl;lth; 
A) kNfe;jputh;kd; B) ee;jpth;kd; 

C) Nfhg;ngUQ;Nrhod; D) FNyhj;Jq;fd; 

67. ;Njthuk;‟ vd;gJ 
A) ,f;fhyj;J ,irj;jkpo;Ehy; 

B) ,ilf;fhyj;J ,irj;jkpo;Ehy; 

C) Kw;fhyj;J ,irj;jkpo;Ehy; 

D) rq;ff;fhyj;J ,irj;jkpo;Ehy; 
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68. chpa tpilia vOJf: 
Kj;JtPug;gd; Ml;rpf;fhyk; 

A) ehd;fhz;L  B) Ie;jhz;L 

C) Vohz;L  D) Mwhz;L 

69. „vy;yh kdpjh;fisAk; xNu khjphpahf 
elj;JtJ rkj;Jtk;‟ vd;wth; 
A) nghpahh;  

B) mz;zy; mk;Ngj;fh; 

C) fhe;jpabfs; 

D) jpU.tp.f 

70. vz;gJ tpOf;fhL jpuhtpl 
nkhopf;$Wfis nfhz;l Ehy; 

A) kiyahsk;  B) jkpo; 

C) njYq;F  D) fd;dlk; 

71.  „mfu Kjy vOj;njy;yhk; Mjp 

gftd; Kjw;Nw cyF‟ vd;Dk; 
jpUf;Fwspy; gapd;W tUk; mzp 

A) vLj;Jf;fhl;Ltik mzp 

B) jw;Fwpg;Ngw;w mzp 

C) ,y;nghUs; ctikazp 

D) Ntw;Wg;nghUs; itg;gzp 

72. nghUe;jhj xd;iwj; njhpT nra;f: 

A) ehybahh;        

B) ehd;kzpf;fbif 

C) gonkhop   

D) fypj;njhif 

73. ew;wpiz ------------ rpw;nwy;iyAk; ------------ 
Ngnuy;iyAk; nfhz;l Ehy; 

A) 4,8   B) 3,6 

C) 9,12   D) 13,31 

74. „fw;f frlwf; fw;git fw;wgpd; 
epw;f mjw;Fj; jf‟ vd;Dk; Fwl;ghtpy; 
mike;Js;s \Nkhid 

A) x&c Nkhid B)nghopg;G Nkhid 

C) $io Nkhid D) Kw;W Nkhid 

75. Kjy; rka fhg;gpak; vJ? 

A) kzpNkfiy  B) rpyg;gjpfhuk; 

C) tisahgjp  D) Fz;lyNfrp 

76. nghUj;jkhd tpiliaj; Njh;T nra;f: 

„njs;S jkpo;eil rpd;dQ;rpwpa 

,uz;lbfs;‟ – jpUf;Fws; Fwpj;J ,g;gbf; 
$wpath; ahh;? 

A) jpU.tp.f  B) xsitahh; 

C) ghujpahh;  D) ghujpjhrd; 

77. tPukhKdpth; gpwe;j ehL 

A) ghhpR   B) ,j;jhyp 

C) ,q;fpyhe;J  D) Rtpr;rh;yhe;J 

78.  „epyj;jpDk; nghpNj thdpDk; cah;e;jd;W‟ 
vd;W jiytp jiytd; kPjhd el;ig 
tpae;J ghLtjha; mike;j ghlypd; Ehy; 

A) ew;wpiz  B) Iq;FWEhW 

C) FWe;njhif  D) mfehDhW 

79. „fpwpj;Jt rkaj;jhhpd; fiyf;fsQ;rpak;‟ 
vdg; Nghw;wg;gLtJ 

A) Njk;ghtzp   

B) ,ul;rz;a ahj;hPfk; 

C) ,ul;rz;a kNdhfuk;  

D) fpwpj;Jtpd; mUs;Ntl;ly; 

80. “kPJhz; tpUk;Ngy;” vd;wth; 
A) fk;gh;   B) xsitahh; 

C) ts;Sth;  D) jpU%yh; 

81. ,NaRngUkhdpd; tsh;g;Gj; je;ij ahh;? 

A) me;Njhdpahh;  B) #ir 

C) jhtPJ   D) NgJU 

82. ;jpUj;njhz;lh; Guhzk;‟ vDk; 
nghpaGuhzj;;Jf;F KjDhyhf mike;jJ 
vJ? 

A) jpUj;njhz;lj;njhif  

B) jpUthrfk; 

C) jpUke;jpuk;   

D) jpUf;Nfhitahh; 

83. nghUj;jhjij vOJf: 
c.Nt.rh. gjpg;gpj;j Ehy;fs; 

A) cyh   B) Nfhit 

C) gps;isj;jkpo;  D) guzp 

84. nghUj;Jf: 

1. tl;b - vUik 

2. ahzh; - gtsk; 

3. Jfph; - 
gidNahiyg;ngl;b 

4. Nkjp - GJtUtha; 

A) 3241   B) 3421 

C) 2341   D) 4123 

85. fhh; fhyj;jpw;Fhpa khjq;fs; 

A) Ig;grp> fhh;j;jpif B) Mdp> Mb 

C) Mtzp> Gul;lhrp D) khh;fop> ij 

86. Fd;Nwwp vd;gjd; ,yf;fzf; Fwpg;G 

A) Vohk; Ntw;Wikj; njhif 

B) Mwhk; Ntw;Wikj; njhif 

C) Ie;jhk; Ntw;Wikj; njhif 

D) ehd;fhk; Ntw;Wikj; njhif 
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87.  „ehkhh;f;Fk; Fbay;Nyhk;‟ vd;Dk; ghly; 

ahiu ;mr;rkpy;iy mr;rkpy;iy‟ vdg; 
ghlj; Jhz;baJ? 

A) ghujpjhrd;  B) Rujh 

C) ghujpahh;  D) nt,uhkypq;fk; 

88. “Foe;ijapd; gjpd;%d;whk; jpq;fspy; 

epfo;tJ” ---------gUtk;. 
A) rg;ghzpg; gUtk;  

B) mk;Gypg; gUtk; 

C) tUifg; gUtk;  

D) Kj;jg; gUtk; 

89.  “Ke;ij ,Ue;J el;Nlhh; nfhLg;gpd; 

eQ;Rk; cz;gh; edpehfhpfh;” vd;Dk; 
mbfs; ,lk;ngw;Ws;s Ehy; 

A) ehybahh;  B) GwehDhW 

C) jpUf;Fws;  D) ew;wpiz 

90. njhz;Zhw;W xd;gJ tifahd G+f;fspd; 
ngah;fs; ,lk; ngWk; Ehy; 

A) ghpghly;  B) fypg;ghly; 

C) Ky;iyg; ghl;L D) FwpQ;rpg; ghl;L 

91. mhpajhk; ctg;g cs;sj; jd;gpdhy; 
mike;j fhjy;  

njhpjuf; nfhzh;e;j vd;why; mkpo;jpDk; 
rPh;j;jtd;Nw 
,;t;tbfs; ,lk; ngWk; Ehy; 

A) nghpa Guhzk; B) rpyg;gjpfhuk; 

C) fk;guhkhazk; D) Njthuk; 

92. “xUtopj; Njhd;wpahq;F vd;Wk; rhd;Nwhh; 
rhd;Nwhh; ghyh; Mg” 
vdf; $Wk; Ehy; 

A) mfehDhW  B) FWe;njhif 

C) fypj;njhif  D) GwehDhW 

93. „gs;spf;$lk; tPl;ilg; Nghd;W ,Uj;jy; 
Ntz;Lk;‟ vd;W nrhd;dth; 
A) fhe;jpabfs;   

B) jpU.tp.fypahz Re;judhh; 

C) ,uhkypq;f mbfs; 

D) jdpehaf mbfs; 

94. “gjpdhW nrt;tpay; jd;ikfis 
nfhz;lJ nrk;nkhop” vdf; $wpath; 
A) jpU.tp. fypahzRe;judhh; 

B) nj.ngh. kPdhl;rpRe;judhh; 

C) c.Nt. rhkpehj Iah; 

D) NjtNeag;ghthzh; 

95. ,e;jpa ehl;il „nkhopfspd; fhl;rpr;rhiy‟ 
(Museum of Languages) vdf; Fwpg;gpl;Ls;s 
jkpo; mwpQh; ahh;? 

A) <uhR ghujpahh;   

B) nj.ngh.kPdhl;rp Re;judhh; 

C) NeU 

D) r.mfj;jpaypq;fk; 

96. ,e;jpahtpy; cs;s Ehyfq;fspy; 
Kjd;ikahdJ? 

A) ruRtjp kfhy;   

B) fd;dpkhuh Ehyfk; 

C) nfhy;fj;jh Njrpa Ehyfk; 

D) NjtNeag; ghthzh; Ehyfk; 

97. vspikapdhy; xU jkpod; gbg;gpy;iy 
nad;why; 
,q;Fs;s vy;yhUk; ehzplTk; Ntz;Lk; 
-,t;tbfs; ,lk; ngw;Ws;s Ehy; 

A) mofpd; rphpg;G  

B) jkpo; tsh;r;rp 

C) ,isQh; ,yf;fpak;  

D) ,Uz;l tPL 

98. „mis‟ vd;w nrhy;ypd; nghUs;: 
A) xyp   B) $g;gpL 

C) nfhL   D) Gw;W 

99. nja;tf; ftpQh; vd;why; ………………… 

vd;W nghUs;gLk;. 

A) jpt;tpaftp 

B) mofpakzthsjhrh; 

C) gps;isg; ngUkhs; Iaq;fhh; 

D) FkuFUguh; 

100. „jpiuf;ftpj; jpyfk;‟ vdr; rpwg;Gg; 

ngah; ngw;wth; 

A) fz;zjhrd;  B) thyp 

C) ituKj;J  D) kUjfhrp 
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Model Test 3 (General English) - TNPSC Group 2 (A)
1. In which of the following sentence infinitive is 

used? 

A) Walking is a good exercise 

B) Reading story books gives pleasure 

C) To err is human 

D) Can you teach painting? 

2. Reaping and Singing by herself stop here, or 

gently pass! 

- Wrote the above poetic lines. 

A) Norman Nicholson  

B) William Shakespeare 

C) William Wordsworth 

D) Douglas Malloch 

3. Why did Bassanio need money? 

A) To marry Portia 

B) Since he was a spendthrift 

C) To run a business 

D) To give it to Antonio 

4. Fill in the blanks with suitable article: 

Kishore is _____ fastest runner in our school.  

Last week he participated in _______ race.  He 

got ____ first prize; _______ chief guest 

appreciated him. 

A) a, the, a, a  B) the, a, the, the 

C) a, an, the, a  D) an, the, a, a 

5. Find the correct sentence where the „present 
participle form‟ is used. 
A) This is a dancing doll  

B) Seema is crying now 

C) My mother bought a wet grinder 

D) These are rotten fruits 

6. Match the compound words and mark the 

correct codes given below: 

1. Noun+Noun - duty free 

2. Noun+Verb - pen friend 
3. Noun+Gerund - water fall 
4. Noun+adjective -air-

conditioning 
A) 2341 B) 3412      C) 2314 D) 1342 

7. Which sentence cannot be changed into passive 

voice? 

A) Everyone praised him for his honesty 

B) They named the baby Lucy in the Church 

C) Hari is a doctor in America 

D) Balu kicked the ball towards the wall 

8. V.K. Gokak was-a professor of _____ 

A) Telugu   B) English 

C) Tamil   D) Kannada 

9. Which one of the following, indirect speeches is 

answers to the sentence in direct speech: 

Ram said to Seetha, “Please lend me a book” 

A) Ram requested Seetha to lend him a book 

B) Ram ordered Seetha to lend him a book 

C) Ram exclaimed Seetha to lend him a book 

D) Ram stated to Seetha to lend him a book 

10. Complete the sentence choosing an option from 

those given below: 

Every villager from those two hamlets ___ 

going to the fair today. 

A) was B) were       C) are D) is  

11. Which of the following is incorrectly paired? 

A) On account 
of 

- deprived of 

B) To take a 
new turn 

- to begin a new 
course 

C) In the midst 
of 

- in the middle 
of 

D) To bear 
with 

- to put up with 
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12. Re-arrange the following sentence into a 

meaningful one: 

Good habits by / positive people / try / being 

with / to inculcate. 

A) Being with good habits by try positive 

people to inculcate 

B) Positive people try to inculcate good habits 

by being with 

C) Try to inculcate good habits by being with 

positive people 

D) To inculcate positive people try being with 

good habits by 

13. Which Nationality does the poet William 

Wordsworth belong to? 

A) Canada   B) Russia 

C) Britain   D) Italy 

14. Choose the correct question tag for the sentence.  

We speak softly ________?  

A) doesn‟t we?  B) doeswe? 

C) don‟t we?  D) are we? 

15. Identify the sentence: 

The nut is too hard to crack 

A) Simple   B) complex 

C) compound  D) imperative 

16. Fill in the blanks with suitable prepositions 

choosing the correct option. 

I was sleeping ______ a friend‟shouse ______ a 

village suddenly I wasawakened ______a 

rumbling and thumping ______theroof. 

A) in  by on at 

B) on in at by 

C) at  in by on 

D) by at on in 

17. Form a new word by blending the words: 

Helicopter + Airport 

A) Airport   B) Aerodrome 

C) Heliport  D) Aerocopter 

18. Identify the sentence pattern. 

He taught me Hindi. 

A) SVC   B) S V C A   

C) S V O A  D) S V IO DO 

19. Match the correct Suffix with the root words : 

(A) colour 

(B) hero 

(C) impress 

(D) credit 

(E) nation 

1. -al 

2. -ful 

3. -able 

4. - ic 

5. - ive 

 (A) (B) (C) (D) (E) 

A) 2 4 5 3 1 

B) 1 3 2 5 4 

C) 3 1 2 4 5 

D) 5 4 3 1 2 

20. Fill in the blanks with suitable prepositions 

given below:  

(A)There is a pencil  _________the box. 

(B)The cat was sitting _________the table. 

(C)The girl is standing _________ the two 

pillars. 

(D)She placed the dishes _________the table. 

 Options:  

1. between   2. in  

3. on   4. under  

 (A) (B) (C) (D) 

A) 2 4 1 3 

B) 1 2 4 3 

C) 3 1 2 4 

D) 4 2 1 3 

21. Match the sentences with their patterns : 

A B 

(A) Ram went to 

school 

(B) My father gave 

me a pen 

(C) He was excited 

(D) She bought 

vegetables 

 

1. S + V + O 

 

2. S + V + C 

 

3.S+ V + IO +  DO 

4. S + V + A 

 (A) (B) (C) (D) 

A) 2 3 1 4 

B) 4 3 2 1 

C) 1 3 2 4 

D) 2 1 3 4 

22. Fill in the blanks with correct homophone. 
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 In Japan even-______stores  are not 

____for they float in boats. 

A) stationery, stationary 

B) stationery, stationed 

C) stationary, stationery 

D) stationed, stationary 

23. Match the following phrases in Column A with 

their meaning in Column B : 

A Phrases B Meaning 

(A) to take a new turn 

(B) bereft of 

 

(C) due to 

(D) in spite of 

1. deprived of 

 

2. to begin a new 

course 

3. irrespective of 

4. reason 

 (A) (B) (C) (D) 

A) 2 3 4 1 

B) 3 1 2 4 

C) 2 4 1 3 

D) 4 3 1 2 

24. Choose the correct Synonyms for the underlined 

word from the options given: The man held out 

his battered hat for alms. 

A) new 

B) beaten out of shape 

C) woolen cloth 

D) beautiful 

25. Match the correct Prefixes with the Root words : 

Prefixes Root Words 

(A) em - 

(B) ultra - 

(C) hyper - 

(D) over - 

(E) inter- 

1. mission 

2. tension 

3. violet 

4. power 

5. lock 

 (A) (B) (C) (D) (E) 

A) 3 4 2 1 5 

B) 5 3 4 2 1 

C) 3 4 5 2 1 

D) 4 3 2 5 1 

26. Identify the sentence pattern of the following 

sentence : 

 Sachin played cricket yesterday. 

A) SVC A    B) SVOA 

C) SVOC   D) SVOAA 

27. In which of the poem do the following lines 

occur? 

“Pining for a new agony, a new birth you 
blossomed into a nascent loveliness”. 
A) Snake 

B) The cry of the children 

C) English words  

D) Manliness 

28. Who said the following 

“That‟s one small step for a man, one giant leap 
for mankind” 

A) Kalpana Chawla B) HW Longfellow  

C) Neil Armstrong D) Jawaharlal Nehru 

29. The figure of speech used in the line, 

“Old age and youth alike mistaught,misfed” of 
the poem - To a Millionaire, 

A) Personification  B) Alliteration 

C) Simile   D) Metaphor 

30. What is the theme observed in the poem 'The 

cry of the children'? 

A) Protecting the environment  

B) Agony of child labourers 

C) Result of hard work    

D) Mental illness 

31. Match the following poems given in Column A 

with their poets in Column B  

Column A    Column B 

(A) Going for water 1. Khalil Gibran 

(B) Earth   2. Ralph Waldo  

                                        Emerson 

(C) The apology        3. Jack Prelutsky 

(D) Be glad your          4. Robert Frost 

nose is in your face  

         (A)       (B)      (C)     (D) 

A) 4  1  3  2   

B)  1 2  4  3  

C)  1  3  2  4  

D) 4  1  2  3  

32. Match the name of the each poet with his/her 

place in Column A with Column B. 



 

4  

 

A     B 

(A) A  Walt Whitman 1. B  Lebanon 

(B) Jack Prelutsky  2. Cockermouth 

(C) Khalil Gibran  3. Brooklyn 

(D) William Wordsworth 4. Long Island 

    (A)      (B)       (C)      (D) 

A)  3  1  4 2  

B)  4 3  1 2  

C) 1  4  2 3  

D) 2  1 3 4  

33. Match the names of the poets given in Column 

A with Column B where the names of the 

nations given. 

Column A    ColumnB 

(A) H.W. Long fellow  1. Britain 

(B) Annie Louisa Walker   2. India 

(C) Leslie Norris   3. America 

(D) Rabindranath Tagore  4. Welsh 

      (A)      (B)       (C)      (D) 

A)  3 1 4 2 

B) 4 3 1 2 

(C) 2 4 3 1 

(D) 1 3 4 2 

34. Match the following poems given in Column A 

with their poeta in Column B    

Column A   Column B 

(A) The flying wonder 1. Lewis carrol 

(B) Is life but a dream? 2. D.H. Lawrence 

(C) O captain! my captain!3. Stephen   

                   Vincent  Bennet 

(D) Snake     4. Walt Whitman 

      (A)      (B)       (C)     (D) 

A)  3 1  2  4  

B)  3  1 4  2   

C) 1  3  2  4   

D) 2  4  1 3 

35. Match the antonyms under column A with 

column B. 

S.No. Column A Column B 
1 Wisdom - Accepted 
2. Generosity - Intolerance 
3. Tolerance - Selfishness 

4. Refused - Folly 
   A) 1243 B) 4321      C) 4123 D) 3214 

36. Match the poems with the poets. 

(A) The Piano         1. Elizabeth  

                                        Barrett  Browning 

(B) Manliness        2. F. Joanna 

(C) The cry of the        3. Rudyard Kipling 

     Chidren 

(D) A sonnet for my    4. D.H. Lawrence 

incomparable mother 

    (A)      (B)       (C)      (D) 

A) 3 1 4 2 

B) 2 3 4 1 

C)  4 3 1 2 

D) 1 3 2 4 

37. Who wrote the poem "The Solitary Reaper"? 

A) Sarojini Naidu   

B) William Wordsworth 

C) Robert Browning    

D) V.K. Gokak 

38. „Be a bush, if you can't be a tree1 

Mention the figure of speech of the above line 

A) Simile   B) Personification 

C) Alliteration  D) Metaphor 

39. Which of these titles is a poem? 

A) The mark of Vishnu  

B) The Road to success  

C) English Words 

D) A model millionaire 

40. Select the correct tense. 

All the students _________ the special class 

last week. 

A) had attended  B) attended 

C) will attend  D) would attend 

41. Fill in the blank with correct Homophone. 

The Palace was ______ 

A) Species   B) Spaecious 

C) Spacious  D) Space 

42. Match the following folk arts in Column A with 

the Indian State in Column B. 

A    B 

(A) Kuchipudi  1. Tamil nadu 
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(B) Bharathanatyam 2. Kerala 

(C) Kathakali  3. Punjab 

(D) Bangra   4.Andra 

    (A)      (B)       (C) (D) 

A) 3 2 1 4 

B) 1 3 4 2 

C) 2 4 3 1 

D) 4 1 2 3 

43. Identify the figure of speech employed in the 

following line. 

„The reddest flower would look as pale as snow‟ 
A) Metaphor  B) Simile 

C) Oxymoron          D) Personification 

44. What is the meaning for „Muskie‟?  
A) a type of Rose that smells like musk 

B) a type of Lilly that smells like musk 

C) a type of Jasmine that smells like musk 

D) a type of Sunflower that smells like musk 

45. Match the following poetic lines in column A 

with the poet in column B and select code: 

S.No. Column A Column B 
1. Walk the 

deck my 
captain dies 

- Douglas 
Malloch 

2. Be a scrub 
in the valley 

- Lewis 
Carroll 

3. Is all our 
life, than but 
a dream 

- William 
Wordsworth 

4. Familiar 
matter of to-
day 

- Walt 
Whitman 

A) 4123 B) 3412        C) 3214     D) 1432 

46. “And in the valleys I have observed your 
tranquility” 

„I‟ refers to 

A) D.H. Lawrence  B) Shakespeare 

C) Wordsworth  D) Ghalil Gibran 

47. Who said the line? 

The highest result of education is tolerance” 

A) Mother Therasa  B) Gandhiji 

C) Helen Keller   D) Indhra Gandhi 

48. _____ is the author of the short story “Last 
Leaf”. 

A) O‟Henry  B) Oscar Wilde 

C) Guy de Maupassant D) Pearl S. Buck 

49. Shakespeare wrote ———long poems. 

A) Five  B) Two     C) Three D) Four 

50. Fill in the blank with the correct answer from 

the following options: 

“The well was dry beside the door, And so we 
went with pail and can” 

These are the lines of 

A) D.H. Lawrence  B) Paul Holmes 

C) Rudyard Kipling D) Robert Frost 

51. "In the beginning was the word  

And the word was God” 

What is the allusion made here? 

A) Literary Allusion  

B) Geographical Allusion 

C) Biblical Allusion  

D) Linguistic Allusion 

52.  “Into the dreary desert sand of dead habit” 

These words occur in the poem of 

A) Shakespeare   

B) V.K. Gokak 

C) Kamala Das   

D) Rabindranath Tagore 

53.  “If you can‟t be a highway then just be a trail” 

The poetic line is from the poem 

A) You Can‟t be that, no you can‟t be that 
B) Where the mind is without fear 

C) Be the best 

D) The Solitary Reaper 

54. Complete the following poetic line choosing 

from the option given below. 

“There won‟t be any calendar, there won‟t be 

A) last look  B) telephone book 

C) any clock  D) plastic hook 

55. Which country does the poet H.W. Long Fellow 

belong to? 

A) London   B) America 

C) Africa   D) Europe 

56. Choose the author of the Supplementary Reader 

“Reflowering”. 
A) James Harriot  
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B) O‟Henry  

C) Rabindranath Tagore  

D) Sundara Ramaswamy  

57. Find out the odd pair from those given below: 

A) Two friends     - 
B) The Refugee     - 
C) Open Window -  
D) The Lottery       - 
Ticket 

Guy de Maupassant 
Pearl S Buck 
O‟ Henry 
Anton Chekhov 

58. Which one of the following is written by 

Susannah Hicking? 

A) Making visible the invisible 

B) Swept away 

C) A close encounter 

D) Caught Sneezing 

59. How much Della had in her hand to buy Jim a 

present? 

A) $1.87  B) $1.78       C) $ 1.77     D) $ 1.97 

60. When was the poem „O Captain ! My Captain‟ 
published? 

A) 1856   B) 1872 

C) 1865    D) 1862 

61. Choose the best answer given below. 

“The reddest flower would look as pale as 
snow”.  The figure of speech used is 

A) Personification  B) Metaphor 

C) Oxymoron  D) Simile 

62. William James was a  

A) Psychologist  B) Doctor 

C) Professor  D) Collector 

63. Hughie was wonderfully good looking with his 

crisp brown hair, his clear cut profile and his 

grey eyes. 

In the given passage the word profile means  

A) outline of the face B) dejected 

C) untidy   D) skill  

64. Choose the correct answer from the options 

given: 

Carver invented a process for producing paints 

and stains from _________ 

A) Soya Beans  B) Lama Rind 

C) Rubber Tree  D) Beet Root 

65. The inscriptions of the _______ talk about Kaja 

Raja Chola‟s gifts to the temple.  

A) Vimanam  B) Tower 

C) Cave    D) Pillars 

66. Shakespeare was born on 

A) April 26 1564  B) May 26 1564 

C) August 26 1564 D) June 26 1564 

67. Which of the following people make 

predictions? 

A) Planners  B) Politicians 

C) Astrologers  D) Historians 

68. Walt Whitman started his career as an office 

boy in a law office in Brooklyn at the age of 

_________ 

A) Twenty   B) Eleven 

C) Twenty Five   D) Fifteen 

69. Which nationality does the poet „Kamala Das' 

belong to? 

A) Indian   B) American 

C) British   D) France 

70. Autobiography „I Dare‟ was written by 

A) M.K. Gandhi  B) R.K. Narayan 

C) Kiran Bedi  D) George Orwell 

71. The life of an ant shows how ______ can make 

life peaceful. 

A) Discipline  B) Education 

C) Health   D) Character 

72. Name the special variety of element, the very 

cruel bomb compelled the Empire of Japan to 

surrender to the Americans from the options 

given 

A) U238 B) U239      C) U235 D) U234 

73. The prize money of Masha was _______ 

roubles. 

A) 75000   B) 50000 

C) 25000   D) 10000 

74. Which one of the following poems is written by 

Norman Nicholson? 

A) A Psalm of life  

B) Off to outer space Tomorrow Morning 

C) Laugh and be Merry 

D) Earth 
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75. Leonardo da Vinci suffered from 

(A) dyslexia  (B) cancer 

(C) fever   (D) mental disorder 

76. Which one of the following is not a poem? 

(A) A noiseless patient spider 

(B) Is life But a Dream? 

(C) Be the Best 

(D) The Helping Hand 

77. ________ is an accepted procedure in 

experimenting, research, testing in all scientific 

factors.  

A) success   B) fear  

C) failure    D) stress  

78. When is George Washington Carver Day 

Celebrated by the USA? 

A) January 5  B) December 5 

C) April 3   D) June 3 

79. Mention the poem in which these lines occur? 

But he‟s locked in a concrete cell, 
His strength behind bars, 

A) To cook and eat    

B) To India 

C) A Tiger in the Zoo    

D) With A friend 

80. Who won the Asia Region Award for Drug 

Prevention and Control? 

A) Mother Theresa 

B) Jawaharlal Nehru 

C) Mahatma Gandhi 

D) Kiran Bedi 

81. Match the poems with poets: 

            A       B 
(A)A Psalm of life 

 
(B)The Solitary 
Reaper 
(C)Piano 
(D)Where the mind 
is without fear 

1.Rabindranath 
Tagore 
2. D.H. Lawrence 
3. H.W. Longfellow 
4.William 
Wordsworth 

 (A) (B) (C) (D) 
A) 1 2 3 4 
B) 3 4 2 1 
C) 3 2 1 4 
D) 4 3 2 1 

82. Match the characters in Column A with the 

story titles in Column B : 

Column A Column B 
(A) Celine 
(B) Kumar 
(C) Hubert 
(D) Shelly 

1. Sam 
2. Caught 
Sneezing 
3. The Summer 
Flight 
4. Swept away 

 (A) (B) (C) (D) 
A) 4 3 2 1 
B) 1 2 4 3 
C) 2 1 4 3 
D) 4 2 3 1 

83. Match the following words given in „Column A‟ 
with their meanings given in „Column B‟ 

Column A Column B 
(A) mutiny 
(B) onslaught 
(C) defy 
(D) futile 

1. disobey 
2. weapons 
3. useless 
4. violent attack 

 (A) (B) (C) (D) 
A) 4 3 1 2 
B) 2 4 1 3 
C) 1 3 4 2 
D) 3 4 2 1 

84. Who said these following lines: 

“Success does not mean the absence of failures 

It means the attainment of ultimate objectives  

It means winning the war, not every battle”.  
A) Edwin C. Bliss B) Dale Corneige 

C) Daniel Kahneman D) Spencer Johnson 

85. What kind of world is described in the poem 

„Migrant Bird‟? 

A) Disturbed world B) Happy world 

C) Peace world  D) Mysterious world 

86. V.K. Gokak expresses his admiration for the 

English language in the poem  

A) Balaka   B) The Golden Boat 

C) The Idot one  D) English words 

87. Who said this? 

“I would sweep them out of existence if I had 
the power” 

A) Indira Gandhi  

B) Mahatma Gandhi 
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C) Rajiv Gandhi 

D) Nethaji Subash Chandra Bose 

88. Identify the poet of the poem “The Cry of the 
Children”. 
A) Robert Frost 

B) William Wordsworth 

C) Norman Nicholson 

D) Elizabeth Barrett Browning 

89. Fill in the blank choosing from the options 

given below: 

Rowther completed ________ class in 

schooling. 

A) Fourth class  B) Fifth class 

C) Third class  D) IInd form 

90. Match the names of characters in Column A 

with the relevant of their identifications in 

Column B. 

A   B 

(A) Thirumalpad 1. Big farmer 

(B) Outha kutty 2. Small farmer 

(C) Kesavan Nair 3. Kesavan Nair‟s friend 

(D) Kutty Mappila 4. Landlord 

    (A) (B) (C) (D) 

A) 1 4 3 2 

B)  4 1 2 3 

C) 3 1 2 4 

D) 4 2 1 3 

91. Someone was before me at my water - trough,  

And I like a second comer, waiting  

Name the poet of these poetic lines. 

A) D.H. Lawrence  

B) H.W. Longfellow 

C) Robert Frost 

D) Rabindranath Tagore 

92. Which one of the following is a correct 

sentence? 

A) Kannan is more tall than Raja 

B) Kannan is not more tall than Raja 

C) Kannan is not taller to Raja  

D) Kannan is taller than Raja 

93. “The very cruel bomb” compelled the Empire of 
Japan to surrender  

A) To the Russians  

B) To the Europeans 

C) To the Americans  

D) To the Australians 

94. Who said „Under the wide and starry sky Dig 
the grave and let me lie‟? 

A) Jane Austin  B) Ben Johnson 

C) RL Stevenson  D) Francis Bacon 

95. Who said this following? 

„The Jew Shall have all justice. Soft! No haste, 
He shall have nothing but the penalty 

A) Portia says to Bassanio that Shylock will 

have penalty as per justice and nothing else 

B) Bassanio says these words to Antonio 

C) Antonio explains the judgement to Bassanio 

D) Portia explains Shylock about the 

punishment he will have at the end 

96. Choose the correct antonym. 

We inhale oxygen when we breathe in  

A) Yawn    B) Exhale 

C) Hiccup   D) Burp 

97. Envy is ignorance and Imitation is suicide” 

Who said this? 

A) Gandhiji  B) R.K. Narayan 

C) Emerson  D) Nehru 

98. How long did the giant stay with his friend in 

Cornish Ogre?  

A) 20 years   B) 15 years 

C) 10 years   D) 7 years 

99. Name the poet in whose poem the following line 

occurs. 

„We can‟t all be captains; we‟ve got to be crew‟. 
A) William Shakespeare  

B) Thomas Hardy 

C) Annie Louiss Walker  

D) Douglas Malloch 

100. Who was nicknamed as „The Plant Doctor‟?  

A) George Washington Carver 

B) Nethaji Subash Chandra Bose 

C) Dr. Annie Besant 

D) Dr. A.P. J. Abdhul Kalam 
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Model Test 3 (General Studies) - TNPSC Group 2 (A)
1. 1928-y; vjpHfhy ,e;jpahtpd; murpayikg;G 

rl;lk; xd;iw tiutjw;F vl;L NgH nfhz;l 

FO Vw;gLj;jg;gl;lJ. ,jd; jiytH 

A) C.R. jh];; 

B) yhy; gfJ}H rh];jphp 

C) Nkhjpyhy; NeU 

D) KfkJ myp [pd;dh 

2. ,e;jpa kf;fl;njhif fzf;nfLg;G 2011-d; 
gb fPNo nfhLf;fg;gl;Ls;sitfspy; jtwhd 
thf;fpak; 

A) ,e;jpa kf;fl; njhif mlh;j;jp 382 

egh;fs;/r.fp.kP 

B) ,e;jpahtpd; ghy; ,d tPjk; 940 

ngz;fs;/1000 Mz;fs; 

C) ,e;jpahtpd; fy;tpawpT rjtPjk; 70.04% 

D) ,e;jpahtpd; kpff;Fiwe;j 
kf;fslh;j;jpiaf; nfhz;l khepyk; 
mUzhr;ry gpuNjrk; 

3. kf;fsitapy;> kNrhjhtpd; jd;ikia KbT 
nra;gth; ahh;? 

A) gpujk ke;jphp 

B) rghehafh; 

C) vjph;fl;rpj; jiyth; 

D) cs;Jiw mikr;rh; 

4. gpd;tUk; ve;j ehspy; Njrpaf; nfhb 
eilKiwf;F nfhz;L tug;gl;lJ? 

A) 1947-k; Mz;L Mf];l; 15k; ehs; 

B) 1947-k; Mz;L Mf];l; 23k; ehs; 

C) 1947-k; Mz;L [Piy 22k; ehs; 

D) 1947-k; Mz;L [Piy 26k; ehs; 

5. gpd;tUtdtw;Ws; Njrpa goq;Fbapdh; 
Mizak; gw;wpa jtwhd $w;Wfis Njh;T 
nra;f: 

I. 90 tJ rl;l rPh;jpUj;jk; ,ijg; gw;wpaJ 

II. ,t;thizak; Fbik ePjp kd;wj;Jf;F 
epfuhdJ 

III. FbauR jiyth; mYtyh;fis Njh;T 
nra;thh; 

IV. gpujk mikr;rh; mYtyh;fis Njh;T 
nra;thh; 

A) I & III  B) III & IV 

C) II & III  D) I & IV 

6. epj;jp MNahf; jiytH ahh? 

A) [dhjpgjp 

B) gpujk ke;jphp 

C) Jiz FbauRj; jiytH 

D) cr;r ePjpkd;w ePjpgjp 

7. rpypfd;> nlYhpak;> n[Hkhdpak; Nghd;w 

jdpkq;fis J}a;ikg;gLj;j gad;gLk; Kiw 

A) kpd;dhw; J}a;ikahf;fy; 

B) khz;l; Kiw 

C) JUtKidj; J}a;ikahf;fy;; 

D) ghl;bd;rd; Kiw 

8. tifg;ghl;baypd; mbg;gil myF 

……………… MFk; 

A) gphpT   (B) FLk;gk; 

C) tFg;;G   (D) rpw;wpdk; 

9. k`huh[h uQ;rpj; rpq;if yh$h; Mseuhf 
1799-y; epakpj;jth; ahh;? 

A) m`kJ ~h mg;jhyp 

B) rhkd; ~h 

C) [hh;[; ghh;Nyh 

D) kpd;Nlh gpuG 

10. ve;j ,U jiyth;fs; yz;ldpy; eilngw;w 
Kjy; tl;lNkir khehl;by; fye;J nfhz;L> 
`hp[d;fspd; epiyia vLj;Jiuj;jdh;. 

1. Dr. gp.Mh;. mk;Ngj;fh; 
2. k`hj;kh fhe;jp 
3. ,ul;ilkiy rPdpthrd; 
4. vk;.rp. ,uhrh 

A) 1 kw;Wk; 2 kl;Lk; B)1 kw;Wk; 3 kl;Lk; 
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C) 2 kw;Wk; 4 kl;Lk; D)1 kw;Wk; 4 kl;Lk; 

11. ,U gy;YWg;Gf; Nfhitfspd; kP.ngh.k. 

(L.C.M.) kw;Wk; kP.ngh.t. (H.C.F.) Mfpad 

KiwNa x6 - 1 kw;Wk; x + 1 MFk;. xU 

Nfhit x
3
 + 1 vdpy; kw;nwhU Nfhit vJ? 

A) x
3
 - 1   B) (x

3
 -1)( x+1) 

C) x
6
 - 1   D) (x

6
 -1)( x+1) 

12. 1 Kjy; 100 tiu vy;yh vz;fisAk; 

vOJk; NghJ 3 vd;w vz;iz vj;jid 

Kiw vOJtPHfs;? 

A) 20 B) 19        C) 11    D) 18 

13. 14 nr.kP. Muk; cs;s tl;l tbt 

ml;ilapy; ,Ue;J 3.5 nr.kP. Muk; cs;s 

,uz;L tl;lq;fSk;> 3 nr.kP ePsKk; 1 

nr.kP. mfyKk; nfhz;l xU nrt;tfKk; 

ntl;b tpl;L> 3 nr.kP. kw;Wk; 4 nr.kP. 

fhy;fs; nfhz;l nrq;Nfhz Kf;Nfhzq;fs; 

,uz;L ,izf;fg;gl;lhy; Gjpjhf cUthFk; 

ml;ilapd; gug;gsT vd;d? 

A) 548 nr.kP2  B) 616 nr.kP2 

C) 708 nr.kP2  D) 748 nr.kP2  

14. 7 kP cs; MuKs;s xU cs;sPlw;w 

Nfhsj;jpDs; cl;Gwkhf xU rHf;f]; tPuH 

Nkhl;lhH irf;fspy; rhfrk; nra;fpwhH. me;j 

rhfr tPuH rhfrk; nra;af; fpilj;jpLk; 

cs;sPlw;wf; Nfhsj;jpd; cl;Gwg;gug;G ahJ? 

(𝜋= 22/7 vd;f) 

A) 525 r.kP.  B) 616 r.kP. 

C) 714 r.kP.  D) 728 r.kP. 

15. tpLgl;l vz;iz fz;Lgpb. 

MK : ::JH : ? 

A) 100/64   B) 100/81 

C) 64/120   D) 81/100 

16. –d;kjpg;G ahJ? 

A) 5   B) 6 

C) 7   D) 8 

17. xU Ntiyia rPjh 15 ehl;fspYk; fPjh 10 

ehl;fspYk; Kbg;ghHfs;. ,UtUk; NrHe;J 

Ntiyia njhlq;fpaJk; rpy ehl;fSf;Fg; 

gpwF rPjh nrd;W tpl;lhs;. kPjk; cs;s 

Ntiyia fPjh 5 ehl;fspy; Kbj;jhs; 

vd;why;> rPjh vt;tsT ehl;fs; fopj;Jr; 

nrd;whs;? 

A) 3 B) 6    C) 8 D) 10 

18. A, B vd;Dk; ,UtH> xNu J}uj;ij KiwNa 

10 fp.kP./kzp> 15 fp.kP./kzp Ntfj;jpy; fle;J 

nry;fpwhHfs;. B–I tpl 30 epkplq;fs; 

mjpfk; A vLj;Jf; nfhs;fpwhH vdpy; 

mtHfs; fle;J nrd;w J}uk; vd;d? 

A) 15 fp.kP.  B) 20 fp.kP. 

C) 90 fp.kP.  D) 30 fp.kP. 

19. 5x
3
 + 2x

2
 – 6x + 12-I (x+2)-My; tFf;ff; 

fpilf;Fk; kPjp vJ? 

A) 5x
2
 – 8x + 10  B) x + 8 

C)  -8   D) -72 

20. TAMIL vd;Dk; nrhy; RCKKJ vdf; 

FwpaPl;lhf;fk; nra;ag;gl;lhy; MATHS vDk; 

nrhy;Yf;Fhpa FwpaPl;lhf;fk; vJ? 

A) KCRJQ   B) KCRRU 

C) RCKKU  D) RCKJQ 

21. பபொருரொதொ஭ லிலகொ஭ங்களுக்கொன 

பெ஬யொர஭ொக புதி஬தொக நி஬஫ிக்கப்பட்டுள்ரலர்  

A) ெக்திகொந்த் தொஸ்   

B)முக்கர் அப்பொஸ் நவ்லி 
C) தபன் ஭ொய்    

D) அ஫ிதொப் கொந்த் 

22. “ஒருத்திக்கே ச ொந்தம்” என்ம நொவலய 

எள௃தி஬வர்  

A) செ஬யயிதொ  B) இன்குயொப்  

C) சபரு஫ொள் முருேன் D)செேதீஸ் கு஫ொர்  

23. 2016 - ம் ஆண்டிற்ேொன Asian Squash federation Coach 

– of – the – Year award சபற்ம Cyrus Poncha எந்த 

நொட்லைச் க ர்ந்தவர்    

A) இந்தி஬ொ   B) இயங்லே    

C) கநபொரம்   D) பொக்ேிஸ்தொன்                               

24. Cost Of Living Index 2017 ன் படி குலமந்த 

ச யவு஫ிக்ே  பட்டி஬யில்  சபங்ேளூருவின்  இைம்      

A) 3  B) 5 C) 2 D) 4 

25. „சவஸ்ட் சபங்ேொல் டி஭ொன்ஸ்கபொர்ட் ேொர்டு‟ 

எனும்  அலனத்து  கபொக்குவ஭த்திற்கும் ஒக஭ 

பொஸ்  திட்ைம் எங்கு அமிமுேப்படுத்தப்பட்டுள்ரது  

A) ச ன்லன  B) மும்லப  

C) சேொல்ேத்தொ  D) சைல்யி        
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26. g+r;rp cz;Zk; jhtuq;fs; ……………. 

gw;whf;Fiwtpdhy; Gujj;ij jahhpf;f 

Kbtjpy;iy. 

A) i`l;u[d;  B) fhHgd; 

C) iel;u[d;  D) Mf;rp[d; 

27. xU %yf;$W FSf;Nfh]; KOikahd 

Mf;rp[Ndw;wj;jpd; NghJ ntspg;gLj;Jk; 

Mw;wypd; msT 

A) 2600 kJ   B) 2300 kJ 

C) 2900 kJ   D) 2500 kJ 

28.  #hpa gdpj;Jsp jhtuk; vd;W 

miof;fg;gLtJ 

A) f];Fl;lh  B) l;u]Puh 

C) thz;lh  D) tp];fk; 

29. ~fyhr;rhug; ghuk;ghpak; kw;Wk; 

epiyepWj;jj;jf;f Rw;Wyhthz;ik| vd;gJ 

2017-Mk; Mz;bw;fhd ,e;j jpdj;jpd; 

fUg;nghUshFk;. 

A) cyfr; Rw;Wr;#oy; jpdk; 

B) cyf g+kp jpdk; 

C) cyf ghuk;ghpa jpdk; 

D) cyf thdpayha;T jpdk; 

30. fPo;fhz;gtw;Ws; vJ fdkhdJ? 

A) xU Nkhy; Eph 

B) xU Nkhy; Nrhbak; 

C) xU %yf;$W H2SO4 

D) xU fpuhk; mZ iel;u[d; 

31.  “ghpNrhjid tifg;ghl;bay;” vd;w 

nrhw;fis Gofj;jpw;F nfhz;L te;jtHfs; 

ahH? 

A) nge;jk; kw;Wk; `{f;fH 

B) Nfk;g; kw;Wk; fpy;yp 

C) thl;rd; kw;Wk; fphpf; 

D) fhHdH kw;Wk; MyhHL 

32. rpgpyp]; vd;w ghf;Bhpa Neha; cUthf 

fhzukhd fpUkp 

A) tpg;hpNah fhyNu 

B) bhpNghdpkh ghyplk; 

C) ep];Nrhpah nfhNdhhpah 

D) vHrpdpah ng];b]; 

33. ve;j `hHNkhd; Nfhgk;> Xl;lk; kw;Wk; 

gaKWj;jy; `hHNkhd; vd;W 

miof;fg;gLfpwJ? 

A) vgpne/ghpd;  B) FSf;Nfh]; 

C) ijuhf;]pd;;  D) thN]hg;gpu];]pd; 

34. gl;bapy; I ypUe;J gl;bay; II nghUj;Jf. 

rhpahd tpilia FwpaPLfspypUe;J 

NjHe;njL. (gpah cyfNfhg;ig fhy;ge;J) 

 gl;bay; 
I 

 gl;bay; 
II 

(a) u\;ah 1. 2006 

(b) gpNurpy; 2. 2010 

(c) njd; 
Mg;hpf;fh 

3. 2014 

(d) n[Hkdp 4. 2018 

 (a) (b) (c) (d) 

A)  4 3 2 1 

B) 4 3 1 2 

C) 3 4 2 1 

D) 4 2 3 1 

35. fPo;fz;ltw;wpy; ve;j Gjpa ehd;F 

cWg;Gf;fs; jdpk ml;ltizapy; 2011-y; 

,izf;fg;gl;lJ? 

A) 113, 114, 115 kw;Wk; 116 

B) 115> 116> 117 kw;Wk; 118 

C) 113> 115> 117 kw;Wk; 118 

D) 114, 116. 117 kw;Wk; 118 

36. r%f rPHjpUj;j thjpfisAk; mtHfspd; 

,af;fq;fisAk; nghUj;Jf. 

(a) uh[huhk; 
Nkhfd;uh
a; 

1
. 

gpuk;kQh
d rig 

(b) Mj;kuhk; 
ghz;Luq; 

2
. 

MHa 
rkh[k; 

(c) Nklk;. 
H.P. 
gpshtl;
];fp 

3
. 

gpuhHj;jd
h rkh[k; 

(d) jahde;j 
ru];tjp 

4
. 

gpuk;k 
rkh[k; 

 (a) (b) (c) (d) 

A) 4 2 1 3 

B) 3 2 1 4 

C) 2 1 4 3 

D) 4 3 1 2 

37. ve;j Ntshz;ikg; gapH cw;gj;jpapy; 

,e;jpah cyfpd; Kjy; ,lj;jpy; epw;fpwJ? 

A) mhprp   B) NtHfliy 
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C) Gifapiy  D) rHf;fiu 

38. cyf rHf;fiu cw;gj;jpapy; ,e;jpahtpd; 

gq;F vj;jid rjtPjk;? 

A) 15% B) 20%       C) 25% D) 30% 

39. ,e;jpahtpd; czT jhdpaq;fspd; ,wf;Fkjp 

g+[;[pakhf ,Ue;j Mz;L vJ? 

A) 1989 kw;Wk; 1990 B) 1993 kw;Wk; 1994 

C) 1995 kw;Wk; 1996 D) 1997 kw;Wk; 1998 

40. irkd; FOtpw;F vjpuhd Nghuhl;lj;jpy; 

fye;J nfhz;L fhakile;J gpd;dH capH 

ePj;jtH 

A) ghy fq;fhju jpyfH 

B) yhyh y[;gjp uha; 

C) jpUg;g+H Fkud; 

D) NfhfNy 

41. xU njhlhpd; n-Mk; cWg;G fhZk; 

tha;ghL =(-1)
n
(1-n+2

n
) vdf; 

nfhLf;fg;gl;Ls;sJ vdpy; mj;njhlhpd; 5-

Mk; cWg;G vJ? 

A) -21 B) -6         C) -28 D) 6 

42. k+1, 3k kw;Wk; 4k+2 Mfpad xU $l;Lj; 

njhlhpy; mikfpd;wd vdpy; k-d; kjpg;G 

A) 0 B) 1           C) 2 D) 3 

43. tpLgl;l vz;izf; fhz;f: 

1> 3> 6> 10> ?> 21> 28 ….. 

A) 16 B) 15        C) 20 D) 17 

44. xU fd rJuj;jpd; gf;fk; 50% 

caHj;jg;gl;lhy; mjd; nkhj;jg; Gwg;gug;gpy; 

Vw;gl;l mjpfhpg;gpd; rjtpfpjk; vd;d? 

A) 108%   B) 125% 

C) 90%   D) 80% 

45. 129
2
 – 29

2
 = ? 

A) 12000   B) 15000 

C) 15800   D) 10000 

46. gpd;tUtdtw;iw nghUj;Jf: 

I)fhh;gd;ilah
f;irL 

A) ,ug;gh; 
kpUJthf;
fy; 

i)G+r;rpf;nfh
y;yp 

II)vhpnghUs; B)fhh;gd; 
fWg;G 

ii)Fbghdq;f
s; 

III) ,ug;gh; 
lah;fs; 

C)jPaiz
g;Gf; fUtp 

iii)ik epwkp 

IV) 
fhh;gd;ilry;

D) xLf;F 
fuzp 

iv) fhh;gd; 
Nkhdhf;irL 

igL 
A) I-c-ii II-d-iv III-b-iii   IV-a-i 

B) I-c-iii II-d-ii III-b-i     IV-a-iv  

C) I-a-i II-b-iii III-d-iv     IV-c-ii 

D) I-b-iv II-d-ii III-c-iii    IV-a-i 

47. fPo;fz;ltw;iw nghUj;Jf: 
 fly; 

Mopfs; 
Miktplq;fs; 

A) khpahdh - njd; 
ml;yhz;bf;fly; 

B) nuhkhd;rp - njd; gRgpf; 
fly; 

C) Re;jh - tl gRgpf; 
fly; 

D)  mlfhkh - fpof;F ,e;jpa 
fly; 

A) 3124   B) 3142 

C) 4213   D) 2134 

48. gpd;tUtdtw;Ws; vit “,e;jpahtpd; 
caphpa kpifg; gy;tifik” ,lkhFk;? 
A) Muty;yp kiy 

B) Nkw;F njhlh;r;rp kiy 

C) ,d;Nlh-fhd;n[l;bf; rkntsp 

D) fpof;F njhlh;r;rp kiy 

49. ,e;jpahtpy; goikahd njhopy;fspy; 
xd;whf fUjg;gLk; Gifapiy njhopyhdJ. 

A) tptrhak; kw;Wk; ciog;G rhh;e;jJ. 

B) tptrhak; kw;Wk; %yjdk; rhh;e;jJ. 

C) njhopw;El;gk; kw;Wk; %yjdk; rhh;e;jJ. 

D) (B) kw;Wk; (C) rhpahdit 

50. nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J rhpahd 
tpiliaj; Njh;e;njL: 

ve;j tk;rhtsp/tk;rhtspapdh; njd;dpe;jpa 
Nfhtpy;fspy; NfhGuq;fis 
mwpKfg;gLj;jpdhh;fs;? 

a) gy;yth;fs;      c)Nrhoh;fs; 

b) ghz;bah;fs;      d)tp[aefumurh;fs; 

A) a kl;Lk;  B)b kw;Wk; c kl;Lk; 

C) a kw;Wk; c kl;Lk; D)c kw;Wk; d kl;Lk; 

51. kj;jpa ml;yhz;bf; flyb kiyj; njhlhpd; 
tbtk; 

A) „S‟ B) „L‟        C) „U‟ D) „T‟ 
52. Gfo;ngw;w „];lhf;N`hk; cr;rp khehL‟ 

eilngw;w Mz;L 

A) 1972   B) 1992 

C) 2002   D) 2012 
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53. ,e;jpahtpd; Nkw;F flw;fiug; gFjpapy; 
mike;jpuhj vz;nza; taiy milahsk; 
fhz;f: 

A) Ngnra;d;  B) mq;fNy];th; 

C) mypangl;  D) ehfh;fhl;bah 

54. fdlh ehl;bd; ghuhSkd;wj;jpy; %d;whtJ 
gpujhd nkhopahf cs;s ,e;jpa nkhop 
ahJ? 

A) jkpo;   B) njYq;F 

C) ,e;jp       D) gQ;rhgp 

55. fPo;fz;ltw;Ws; rhpahd tpilia Njh;e;J 
vLj;J vOJf: 

A) Nfhyp vOr;rp - 1829 

B) fl;r; fyfk; - 1828 

C) th`hgp 
,af;fk; 

- 1800 

D) NtY jk;gp 
Gul;rp 

- 1806 

56. ஆண் - பபண் ஊறி஬ர்களுக்கு ெƬ ெ஫஫ொக 

ஊதி஬ம்  லறங்க உள்ர உயகின் முதல் நொடு  

A) கிƭன் யொந்து     B) ஐஸ் யொந்து   

C) நொர்வல      D) ஋கிப்து  

57. இண்டி஬ன்சவல்ஸ் ஫ொஸ்ைர்ஸ் சைன்னிஸ் 

கபொட்டி நலைசபறும் நொடு                                                       

A) இந்தி஬ொ   B) அச஫Ƭக்ேொ                    

C)  ீனொ    D) பொக்ேிஸ்தொன்    

58. தற்கபொலத஬ FIFA த஭வƬல ஬ின்படி 

இந்தி஬ொவின் இைம்    

A) 101 B) 105  C) 111  D) 131                                                                                                                           

59. 2017 - ம் ஆண்டின் ேயொ ஭ட்ைன் விருது சபற்மவர்   

A) ப்ƭத்தி பகைல்  B) அனுபம் சேஹர் 

C) ஫ிருதுரொ   D)  ம்கெொத்  ித்து                                            

60. ஋ந்த நொட்டின் நொடொளு ஫ன்மத்தில் அந்த நொட்டின் 

வப஭஭ெர் அƬ஬ணை துமப்பு பதொடர்பொன ஫வெொதொ 

நிணம வலமி஬து 

A) தொய்யொந்து  B) இங்கியொந்து 
C) கொங்வகொ   D) ஜப்பொன்          

61. gdpnuz;lhtJ Ie;jhz;L jpl;lj;jpd; 
Fwpf;Nfhs;. 

A) Jhpj ePbj;J epiyj;j kw;Wk; mjpf 
cs;slf;fpa tsh;r;rp 

B) Ntfkhd kw;Wk; mjpf cs;slf;fpa 
tsh;r;rpia Nehf;fpr; nry;tJ 

C) r%f ePjp kw;Wk; rk clik mspf;fpd;w 
tsh;r;rp 

D) Ntiy tha;g;ig mjpfhpf;fr; nra;Ak; 
Jhpj tsh;r;rp 

62. gl;bay; I I gl;bay; II cld; nghUj;jp 
gl;bay;fSf;F fPNof; nfhLf;fg;gl;Ls;s 
njhFg;gpypUe;J rhpahd tpilia njhpT 
nra;f: 

 gl;bay; 
I 
(jhtuk;) 

gl;bay; II 
(fhyepiy) 

A) Njf;F - kpjntg;g 
fz;l Fsph; 
fhyepiy 

B)  Mypt; - ntg;gg; 
ghiytdf; 
fhyepiy 

C) rg;ghj;jp
f; fs;sp 

- mad kz;ly 
gUtf;fhw;W 
fhyepiy 

D) ];G&]; - 
kj;jpajiuf;fl
y; fhyepiy 

A) 3421 B) 4312   C) 1324 D) 4321 

63. gphpj;tp – II Vtfizapd; jhf;Fk; Jhuk; 
vd;d? 

A) 1300kms  B) 1000 kms 

C) 350 kms  D) 500 kms 

64. nghJj;Jiw epWtdq;fsplkpUe;J 
KjyPLfisj; jpUk;g ngWk; muR 
nfhs;iff;fhd Kf;fpa fhuzk;. 

A) murpd; epjpr; Rikia Fiwj;jpl 

B) jj;njLf;Fk; epWtdq;fshf khw;wpl 

C) njhopw;KidNthh;fsplk; mspg;gjw;fhf 

D) yhgk; <l;Lk; epWtdq;fshf 
khw;Wtjw;fhf 

65. fPo;fz;l fUj;Jf;fspy; jtwhdij Rl;bf; 
fhz;gpf;fTk;: 
fUj;Jf;fs;: 

I) ,e;jpa Njrpa fhq;fpu]; V.x. `pA+kpdhy; 
Jtf;fg;gl;lJ. 

II) ,e;jpa Njrpa fhq;fpurpd; Kjy; $l;lk; 
gk;ghapy; ele;jJ. 

III) lGy;A.rp. ghdh;[p ,e;jpa Njrpa 
fhq;fpurpd; Kjy; jiytuhthh;. 

IV) ,e;jpa Njrpa fhq;fpu]pd; ,uz;lhtJ 
$l;lk; jhjhgha; nesNuh[pahy; 
elj;jg;gltpy;iy. 

A) I kw;Wk; II kl;Lk; 
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B) II kw;Wk; III kl;Lk; 

C) I kw;Wk; III kl;Lk; 

D) IV kl;Lk; 

66. vd;w 

rkd;ghl;bd; jPHT 

A) x =1, x =3  B) x = 3 

C) x = -4   D) x = 1 

67. %d;W tUlq;fSf;F Kd; 5 egH nfhz;l 

FLk;gj;jpd; ruhrhp taJ 17 tUlq;fs;. xU 

Foe;ij gpwe;j gpd; mf;FLk;gj;jpd; ruhrhp 

taJk; mNj jhd; vdpy; mf;Foe;ijapd; 

jw;Nghija taJ 

A) 1 tUlk;  B) 1 ½ tUlq;fs; 

C) 2 tUlq;fs;  D) 3 tUlq;fs; 

68. Vohy; tFgLk; vy;yh ,uz;byf;f ,ay; 

vz;fspd; $l;Lg; gyd; ahJ? 

A) 777 B) 1728   C) 1777 D) 728 

69. 3240> 3600 kw;WnkhU %d;whtJ vz; 

Mfpatw;wpd; HCF MdJ 36 kw;Wk; 

mtw;wpd; LCM MdJ 24 × 35 × 52 × 72 

vdpy; me;j %d;whtJ vz; vJ? 

A) 25 × 52 × 72  B) 23 × 35 × 72 

C) 22 × 53 × 72  D) 22 × 35 × 72 

70. xU filf;fhuH jd;dplk; ,Ue;j &. 5 

mlf;f tpiyAs;s 20 fp mhprpiaAk;> &. 7 

mlf;f tpiyAs;s 35 fpNyh mhprpiaAk; 

xd;whf fye;J fpNyh &. 6.50 f;F tpw;why; 

mtUf;F fpilf;Fk; ,yhgj;jpd; rjtPjk; 

vd;d? 

A) 3%   B) 3  

C) 4    D) 3  

71. ghuhSkd;wj;jpd; ,U mitfspYk; 
cWg;gpdh; my;yhj xUth;> mikr;ruhdhy; 
vj;jid ehl;fSf;Fs; mth; 
ghuhSkd;wj;jpy; VNjDk; xU mitapy; 
cWg;gpduhf Mf Ntz;Lk;. 

A) 60 ehl;fs;  B) 180 ehl;fs; 

C) 30 ehl;fs;  D) 150 ehl;fs; 

72. gpd;tUtdtw;Ws; Nyhf;ghy; kNrhjh 
rk;ge;jg;gl;l $w;Wfspy; rhpahditfis 
Njh;T nra;f: 

I. br. 18> 2013 md;W epiwNtw;wg;gl;lJ. 

II. khepyq;fs; 100 ehl;fspy; Nyhf; 
MAf;jhit njhlq;f Ntz;Lk;. 

III. khepyq;fs; 365 ehl;fspy; Nyhf; 
MAf;jhit njhlq;f Ntz;Lk;. 

IV. br. 19> 2013 ,y; njhlq;fg;gl;lJ. 

A) II kw;Wk; IV  B) IV 

C) II   D) I kw;Wk; III 

73. #hpa fpu`dk; ,e;epiyapy; Vw;gLfpwJ. 

A) re;jpuDf;Fk;> Gtpf;Fk; ,ilapy; #hpad; 
fhzg;gLk; NghJ 

B) #hpaDf;Fk;> Gtpf;Fk; ,ilapy; re;jpud; 
fhzg;gLk; NghJ 

C) #hpaDf;Fk;> re;jpuDf;Fk; ,ilapy; Gtp 
fhzg;gLk; NghJ 

D) Gtp> #hpad; kw;Wk; re;jpud; tisNfhl;L 
mikg;gpy; cs;sNghJ 

74. tlNkw;F ,e;jpahtpd; thdpiyia 
ghjpf;Fk; Nkw;fj;jpa ,ilA+whdJ 
Njhd;Wkplk; 

A) kj;jpa jiuf;fly; B) mugpf;fly; 

C) fh];gpad; fly; D) rhf;fly; 

75. [dthp 2017 ypUe;J If;fpa ehLfSf;fhd 
If;fpa mnkhpf;fhtpd; gpujpjpep ahh;? 

A) epf;fp N`Ny  B) #rd; iu]; 

C) rkhe;jh Nghth; D)kpr;Nry; J. irrd; 

76. gl;bay; II gl;bay; II cld; nghUj;jp 

rhpahd tpilia Njh;;e;njL 

gl;bay; I gl;bay; II 
a)fhpfhyd; ;1.rpNyhd; 

Ml;rpahsh; 
b)nrq;Fl;Ltd; 2.ghz;ba 

Ml;rpahsh; 
c)neLQ;nropad; I 3.Nrho 

Ml;rpahsh; 
d)RathF 4.Nru 

Ml;rpahsh; 
 a b c d 
A) 3 4 2 1 

B) 4 1 2 3 

C) 3 1 2 4 

D) 3 4 1 2 
77. gpd;tUk; epfo;Tfis nfhLf;fg;gl;Ls;s 

FwpaPLfisg; gad;gLj;jp fhy 

thpirg;gLj;Jf 

I) fhe;jp ,h;tpd; xg;ge;jk; 
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II) gfj;rpq;> Rf;Njt;> uh[FU 

J}f;fpyplg;gly; 

III) fhe;jp ,h;tpd; xg;ge;jj;jpw;F fhq;fpurpy; 

xg;gk; 

IV) ,uz;lhtJ tl;lNkir khehL. 

A) I, III, II, IV  B) I, II, III, IV 

C) III, II, IV, I  D) I, III, IV, II 

78. ntz;ik Gul;rpf;F fhuzkhdth; ahh;? 

A) Nkdd;  

B) lhf;lh;. nth;fP]; Fhpad; 

C) Rthkpehjd;   

D) b.Nf.gl;N;y; 

79. gl;bay; I- cld; gl;bay;- III nghUj;Jf: 
 gl;bay; I gl;bay; II 
1. ,uh[huhk; 

Nkhfd;uha; 
- cld;fl;il 
VWjy; 

2. eNue;jpu ehj 
jj;jh 

- Rthkp 
tpNtfhde;jh; 

3. md;dpngrd;l; - gpuk;k 
Qhdrit 

4. rPf;fpa kjk; FUehd;f; 
A) 1234 B) 4321   C) 3412 D) 2134 

80. ruf;fh> R~;Ujh rpwe;j 

A) thd rh];jpuq;fs; B) fzpj Nkijfs; 

C) kUj;Jth;fs;  D) jj;JtQhdpfs; 

81. gpd;tUtdtw;Ws; ve;j ,iz> NeUtpd; 
kiwTf;Fg; gpwF> gpujkh; gjtpf;fhd 
Kf;fpa Nghl;bahsh;fshf ,Ue;jhh;fs;? 

A) nkhuhh;[p Njrha; kw;Wk; ,e;jpuh fhe;jp 

B) ,e;jpuh fhe;jp kw;Wk; fhkuh[h; 

C) nkhuhh;[p Njrha; kw;Wk; yhy; gfJhh; 
rh];jphp 

D) yhy; gfJhh; rh];jphp kw;Wk; ,e;jpuh 
fhe;jp 

82. ngl;bnahd;wpd; tpiy &.2>000-y; ,Ue;J 

&.2>500-Mf mjpfhpf;fg;gl;lhy; mjpfhpg;gpd; 

rjtPjk; ahJ? 

A) 20% B) 22%      C) 30% D) 25% 

83.  &.2>400-f;F 5% Mz;L tl;b tPjk; 2 

Mz;Lfspy; fpilf;Fk; jdp tl;bf;Fk;> $l;L 

tl;bf;Fk; cs;s tpj;jpahrk; 

A) Rs. 5 B) Rs. 6     C) Rs. 7 D) Rs. 8 

84. A, B, C vd;w %d;W kdpjHfs; xU 

Ntiyia jdpj;jdpNa 10> 15> 30 ehl;fspy; 

Kbg;ghHfs;. A–Ak; B-Ak; %d;W ehl;fSf;F 

NrHe;J Ntiy ghHj;Jtpl;L A tpyfp tpl C 

NrHe;J nfhs;fpwhH. kPjKs;s Ntiyia B–
Ak; C-Ak; vj;jid ehl;fspy; Kbg;gH? 

A) 5 ehl;fs;;  B) 6 ehl;fs; 

C) 10 ehl;fs;  D) 7 ehl;fs; 

85. xU kfpOe;J tz;bahdJ xNu rPuhd 

Ntfj;jpy; 90 fp.kP. J}uj;ij flf;fpwJ. 

mjd; Ntfj;jpy; 15 fp.kP/kzp vd;wsT 

mjpfhpf;fg;gl;bUe;jhy; gaz Neuk; 30 

epkplq;fs; Fiwe;jpUf;Fk; vdpy; mt;Te;J 

nrd;w rPuhd Ntfk; vJ? 

A) 45 fp.kP/kzp  B) 75 fp.kP/kzp 

C) 60 fp.kP/kzp  D) 90 fp.kP/kzp 

86. Kjy; vl;L Fiwaw;w KO vz;fspd; 

,ilepiyasT vJ? 

A) 4 B) 3.5          C) 8 D) 8.5 

87. rhpahd tpilia Njh;e;njLf;f: 
 ngah;fs; gjtpfs; 
1. kfhj;kh 

fhe;jp[p 
- Kjy; 
gpujk ke;jphp 

2. [t`h;yhy; 
NeU 

- Njrg; gpjh 

3. lhf;lh; ghG 
,uhN[e;jpu 
gpurhj; 

- tiuglf; 
FOtpd; 
jiyth; 

4. lhf;lh; 
B.R.mk;Ngj;fhh; 

- 
murpayikg;G 
eph;za 
rigapd; 
jiyth; 

A) 1324 B) 2143   C) 1234 D) 4231 

88. nghUj;Jf: 
 khepyq;fs; jpl;lq;fs; 
1. jkpo;ehL - nghpahh; 
2. Nfush - Fj;jh 
3. `hpahdh - jhNkhjh; 

Ntyp 
4. Nkw;F 

tq;fhsk; 
- gf;uh-eq;fy; 

A) 2143   B) 3421 

C) 4213   D) 2314 

89. gpd;tUk; ,e;jpa tpisahl;L tPuh;fis 
mth;fSila tpisahl;NlhL rhpahfj; 
njhlh;GgLj;Jf: 

1. mgpN~f; 
th;kh 

- Nkirf;Nfhy; 
ge;jhl;lk; 

2. gd;f[; 
mj;thdp 

- Fj;Jr; 
rz;il 

3. gpd;fp - nld;dp]; 
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[hd;fpuh 
4. Rhdpah 

kph;]h 
- tpy;tpj;ij 

A) a-2;b-4;c-1;d-3  B) a-4;b-1;c-2;d-3 

C) a-2;b-4;c-3;d-1  D) a-1;b-4;c-2;d-3 

90. vl;lhtJ gphpf;]; khehL ele;j ,lk; 
A) nly;yp   B) nrd;id 
C) Kk;ig   D) Nfhth 

91. இந்தி஬ொ பொர்஫ொ 2017 ஫ொநொடு எங்கு 

நலைசபற்மது   

A) ச ன்லன   B) லஹத஭ொபொத்                             

C) மும்லப    D) சபங்ேளூரு                                                        

92. கத ி஬ ஫ேரிர் நொைொளு஫ன்மம் என்ம 3 நொள் 

ேருத்த஭ங்கு எங்கு நலைசபற்மது  

A) சதலுங்ேொன   B)ஆந்தி஭ொ  

C) த஫ிழ்நொடு   D) கே஭ரொ  

93. கத ி஬ கைபிள் சைன்னிஸ் கபொட்டி஬ில் 7 வது 

முலம஬ொே பட்ைம் சவன்ம  ஭த்ே஫ல்  எந்த 

஫ொநியத்லத க ர்ந்தவர்  

A) த஫ிழ்நொடு   B) கே஭ரொ  

C) கேொவொ    D) ஆந்தி஭ொ  

94. 2017-k; Mz;bw;fhd M];fhH njhopy;El;g 
tpUijg; ngw;w fpuz; gl; ,e;jpahtpy; ve;j 
Ciur; NrHe;jtH? 
A) mfkjhghj;   
B) gpyhdp 
C) Nfhak;Gj;J}H   
D) `jughj;(njYq;fhdh) 

95. gl;bay; I-ia gl;bay; II- cld; nghUj;jp 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfis nfhz;L 
rhpahd tpilia Njh;e;njLj;J vOJ: 
t.v
z; 

gl;bay; I gl;bay; II 

1. gphpT – 45 - ngz;fs; kW 
rPuikg;G ,lk; 

2. Foe;ijfs; 
jpdk; 

- ,ytr 
kw;Wk; fl;lha 
fy;tp 

3. tujl;rid 
jLg;Gr;rl;lk; 

- 14, etk;gh; 

4. FWfpa fhy 
,y;yq;fs; 

- 1961 

A) 2431   B) 4321 

C) 2341   D) 3412 

96. Mq;fpNyah;fs; tPughz;ba fl;lnghk;kdpd; 

gilia ve;j ,lj;jpy; Njhw;fbj;jdh;? 

A) fs;sh;gl;b  B) rpq;fg;Gdhp 

C) kJiu   D) = uq;fk; 

97. “ehd;F cw;gj;jpf; fhuzpfs;” vd 
miof;fg;gLtJ vJ?; 

A) &gha; - lhyH - <Nuh – naz; 

B) GNP – NNP – GDP – NDP 

C) epyk; - ciog;G - %yjdk; - njhopy; 

KidNthH 

D) thuk; - Cjpak; - tl;b - ,yhgk; 

98. Njrpa tsHr;rpf; FOtpd; cWg;gpdH ahH? 

A) khepy Kjy;tHfs; 

B) epjp mikr;rH 

C) ghJfhg;G mikr;rH 

D) cs;Jiw mikr;rH 

99. nghUj;Jf: 

(

a

)

[tfH fpuhk 
Ntiytha;g;Gj; 
jpl;lk; 

1. 2000– 
2001 

(

b

)

ehl;L r%f 
cjtpj; jpl;lk; 

2. 1993 

(

c

)

Ntiytha;g;G 
cWjpj; jpl;lk; 

3. 1999 

(

d

)

gpujkhpd; 
Ntiytha;g;Gj; 
jpl;lk; 

4. 1995 

 (a) (b) (c) (d) 

A) 3 1 2 4 

B) 4 3 1 2 

C) 3 4 2 1 

D) 2 3 1 4 

100. fPNo nfhLf;fg;gl;Ls;s jkpof murpd; 

tsHr;rpj; jpl;lq;fspd; njhFg;Gfspy; 

[g;ghd; ehl;L gd;dhl;L xj;Jiog;G 

Kfikapd; KO cjtpiaAk; ngWk; 

njhFg;Gfis fz;Lgpbf;f. 

(i) nkl;Nuh uapy; jpl;lk; -I> n`hNfdf;fy; ePH 

mspg;G> efHg;Gw cly; eyg;ghJfhg;G 

(ii) nkl;Nuh uapy; jpl;lk; -II. fhNthp FbePH 

mspg;G> rkpQ;ir mDg;Gk; Kiw 

(iii)KjyPL tsHr;rpj; jpl;lk;> efHg;Gw 

fl;likg;G> nrd;id-ngq;fSH njhopw;Gw 

top 
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(iv) fly; ePiu Fb ePuhf;Fk; jpl;lk;> nrtptopj; 

jkpo; nrhy;ypay; Ma;Tj; jpl;lk;> nrd;id 

Rw;W tl;l rhiy 

fPNo nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J 

rhpahd tpiliaj; NjHe;njL. 

A) (i) (ii) kw;Wk; (iii)  

B) (i) kw;Wk; (iii) 

C) (i) (iii) kw;Wk; (iv)  

D) (iii) kw;Wk; (iv)    
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Model Test 3 (General Studies) - TNPSC Group 2 (A)
1. India Vision 2020 is the document prepared by 

A) Manmohan Singh  

B) C. Rangarajan 

C) Shyam Prasad Gupta  

D) Suresh Tendulkar 

2. Identify the correct set of vulnerable cities for 

Hindu Muslim conflict 

A) Mordabad, Aligarh, Agra, Chennai 

B)Aurangabad,,Vizah,,Gauhati,Jamshedpur 

C) Nagpur, Meerut, Bhopal, Srinagar  

D)Meerut,Ahamadabad,Hyderabad, Cuttack 

3. Consider the following statements, about galaxy  

1. The galaxy is a cluster of brilliant stars  

2. The approximate mass of galaxy is 10
50

 kg 

3. The galaxy in which we live is spiral galaxy 

4. The galaxy close to the sun is Milky way. 

Choose the incorrect code 

A) 1 and 3   B) 1, 2 and 3 

C) 2, 3 and 4  D) 2 and 4 

4. India and UK to set up a __ million pound fund 

to finance clean energy projects. 

A) 220   B) 230   

C) 235   D) 240 

5. The cytoplasmic connections between adjacent 

cells through the cell wall pores are known as 

A) Plasma membranes  

B) Endoplasmic reticulum 

C) Plasmodesmata   

D) Cellulose 

6. Fungi are  

A) Chlorophyllousthallophytes  

B) Achlorophyllousthallophytes 

C) Chlorophyllous spermatophytes  

D) Achlorophyllous spermatophytes 

7. The minerals found in milk are 

I) Calcium   II) Phosphorus 

III) Iron   IV) Vitamin C 

A) I andII   B) II and III 

C) III and IV  D) I and IV 

8. The motto of the Twelfth Five-year Plan is 

A) Faster, sustainable and more inclusive 

growth 

B) Towards faster and more inclusive growth 

C) Growth with social justice and equity 

D) Employment generation with faster growth 

9. Which among the following countries has fired 

its first submarine – launched nuclear – capable 

missile recently? 

A) Russia    B) Pakisthan  

C) Japan    D) China 

10. In a rectangle if the length is increased and 

breadth is reduced by 3 cm then area is reduced 

by 18cm
2
.  If the length is reduced by 1 cm and 

breadth is increased by 2cm then the area is 

increased by 14cm
2
.  Actual length and breadth 

of the rectangle are respectively. 

A) 13cm; 10cm  B) 14cm; 9cm 

C) 12cm; 12cm  D) 15cm; 8cm 

11. If k+1, 3k and 4k+2 are any 3 consecutive terms 

of an Arithmetic Progression then value of k is 

A) 0   B) 1 

C) 2   D) 3 

12. Find the missing number: 

1, 3, 6, 10, ?, 21, 28, …… 

A) 16   B) 15 

C) 20   D) 17 
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13. If 1/8 of a pencil is black, ½ of the remaining is 

white and the remaining 3 ½ cm is blue find the 

total length of the pencil. 

A) 9cms   B) 7cms 

C) 8cms   D) 10cms 

14. A tin of oil was 4/5 full.  When 6 bottles of oil 

were taken out and four bottles of oil were 

poured into it, it was ¾ full.  How many bottles 

of oil can the tin contain? 

A) 35   B) 40 

C) 42   D) 60 

15. When an amount was distributed among 14 

boys, each of them got Rs. 80 more than the 

amount received by each boy when the same 

amount is distributed equally among 18 boys.  

What was the amount? 

A) Rs. 5,010  B) Rs. 5,020 

C) Rs. 5,040  D) Rs. 5,000 

16. The height of an equilateral triangle is 10 cm. Its 

area is 

A)
100

3
cm

2
   B)30 cm2 

C) 100 cm
2
  D) 

100 3  cm
2
 

17. At which rate of simple interest, will the amount 

be twice in 20 years? 

A) 4%   B) 5% 

C) 6.66%   D)3.33% 

18. Four resistors of 10,000 ohm, 1,000 ohm, 100 

ohm and 10 ohm are connected in parallel.  

What will be their equivalent resistance? 

A)more than 10,000 ohm  

B) 10,000 ohm 

C) 10 ohm    

D)less than 10 ohm 

19. Specific heat capacity of water is how many 

times more than the specific heat capacity of 

mercury? 

A) 20   B) 40 

C) 30   D) 50 

20. Match List I with List II and select the correct 

answer using the codes given below the lists: 

S List I List II 

.

N

o 

1

. 

Sun -Chemical 

reaction 

2

. 

Solar cell - Nuclear 

fusion 

reaction 

3

. 

Lead acid 

accumulato

r 

-

Electromagn

etic induction 

4

. 

AC 

Generator 

- Light 

energy into 

electricity 

A) 3241   B) 1324 

C) 2431   D) 2413 

21. Which of the following are vector quantities? 

(i) Density   (ii) Acceleration 

(iii) Energy   (iv) Force  

A) (i) only   B) (i) and (iii) 

C) (ii) and (iv)  D) (i), (ii) and (iii) 

22. Match the following and choose the correct 

answer : 

Type Symbol of the 

element 

Alkali earth 

metal 

1

. 

Rb 

Radioactive 

element 

2

. 

As 

Alkali metal 3

. 

Mg 

Metalloid 4. Fr 

 (A) (B) (C) (D) 

A) 2 1 4 3 

B) 1 2 3 4 

C) 4 3 2 1 

D) 3 4 1 2 

23. Megaloblastic anaemia is due to the deficiency 

of  

A) Folic acid and vitamin B12 

B)Folic acid and vitamin B6 

C) Ascorbic acid and vitamin B2 

D) Ascorbic acid and vitamin B6  

24.  ‗β‘—cells of Islets of Langerhans secrete  

A) Glucagon  B) Insulin 
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C) Somatostatin  D) Calcitonin 

25. The function of AC dynamo is 

A)to convert mechanical energy into electrical 

energy 

B)to convert light energy into electrical energy 

C)to convert electrical energy into mechanical 

energy 

D)to convert electrical energy into light energy 

26. Why does the sky appear blue in colour? 

A) Interference of light 

B) Scattering of light 

C) Diffraction of light 

D) Polarisation of light 

27. n plants photosynthetic pigments are located in 

A) Cristae   B) Cisternae  

C) Granum  D) Stroma 

28. Proteins which are capable of replication within 

certain mammalian cells 

A) Virus   B) Mycoplasma  

C) Prions   D)Bacteria 

29. The cell organelle essential for photorespiration 

in plants 

A) Ribosome  B) Dictyosome 

C) Peroxisome  D)Glyoxysome 

30. Choose the correct answer from the codes given 

below : 

Haemoglobin is the iron containing metallo 

protein found in 

(i) Leucocytes  (ii) Thrombocytes 

(iii)Plasma   (iv) Erythrocytes 

A) Both (i) and (iii) B) Both (ii) and (iv) 

C) (iii) only            D) (iv) only 

31. Find the correctly matched pair : 

A) Sex-linked inheritance         -Arthritis 

B) Y-linked inheritance             - Haemophilia 

C) Sex-linked lethal inheritance -Albinism 

D) Maternal inheritance  -Shell coiling 

in snails 

32. The main objectives of the policy of 

disinvestment of equity capital of public 

enterprises is to 

A) Reduce the burden of budgetary support to 

them 

B) Convert them into holding companies 

C) Hand them over to private entrepreneurs 

D) To make them profit earning enterprises 

33. When and where the National Institute of 

Intellectual Property Management has been 

setup? 

A) 2012 at Nagpur B) 2012 at New Delhi 

C) 2014 at Chennai D) 2014 at Nagpur 

34. The objective of BabuJagj _______ ivan Ram 

ChhatrawasYojana is 

A) To provide hostel facilities to SC boys and 

girls students. 

B) To provide educational facilities to girls 

C) To provide employment opportunities for 

girls 

D) To provide health facilities for women 

35. After 1991, the Government of India 

implemented various reforms in the area of 

taxation.  This was based on the 

recommendations of the 

A) Wanchoo Committee  

B) Raja Chellaiah Committee 

C) K.N. Raj Committee 

D) Narasimham Committee 

36. Permanent settlement was the feature of 

A) Zamindari system B) Mahalwari system 

C) Ryotwari system D) None of these 

37. Which one of the following committee 

examined and suggested financial sector 

reforms? 

A) AbidHussain Committee 

B) Bhagawathi Committee 

C) Chellaiah Committee 

D) Narasimham Committee 

38. Point out the wrong statement in the following:   

Statements: 

I. Indian National Congress was founded by 

A.O. Hume 

II. The first meeting of the Indian National 

Congress was held at Bombay 



 

4  

 

III. W.C. Bannerjee was the first President of 

the Indian National Congress. 

IV. The second session of the Indian National 

Congress was not president by 

DadabhaiNaoroji. 

A) I and II only  B) II and III only 

C) I and III only  D) IV only 

39. The incorrect statement among the following as 

per 2011 census is 

A) India‘s population density is 382 
persons/sq.km 

B) Sex Ratio of India is 940 females / 1000 

males 

C) Literacy rate of India is 70.04% 

D) Arunachal Pradesh is the least densely 

populated state of india. 

40. What will be the difference between simple and 

compound interest at 10% per annum and  

sumofRs. 1,000 after 4 years 

A) Rs. 58.95  B) Rs. 64.10 

C) Rs. 72.17  D) Rs. 55.40 

41. Find the odd man out. 

10,25,45,54,60,75,80  

A) 54   B) 25 

C) 80   D) 10 

42. If 63 + 25 = 16,12 + 18 = 12 and 23 + 17=13 

then 54 + 22 =?  

A) 13   B) 17 

C) 19   D) 20 

43. If WORDSWORTH is written by 

VPQERXNSSI, then DAFFODILS would be 

written as 

A) CBEGNEJMR  B) CBEGNEHMR 

C) CBEGNEMOR D) CBEEGNHMR 

44. The next two letters in the letter sequence below 

are ML N KOJ __ __ 

A) R, H   B)Q,S 

C) I, T   D) P, I 

45. Which one of the following statement is 

incorrect about Rajaji? 

A) Rajaji was the leader of Salt Satyagrabha in 

Tamil Nadu 

B) Rajaji made the Quit India Movement a 

successful in Tamil Nadu 

C) Rajaji introduced compulsory Hindi 

education in Tamil Nadu while he was a premier 

D) Rajaji‘sKuulakalviThittam forced him to quit 
his premier post 

46. According to world bank, the following scheme 

is ranked as the world largest public works 

programme. 

A) Mahatma Gandhi National Rural 

Employment Guarantee Act (MGNREGA) 

B) Mid day meal Scheme 

C) JananiSurakshaYojna 

D) Indira Gandhi National Old Age Pension 

Scheme 

47. Match the following : 

a) Vande Madharam 1. Rabindranath  

                                     Tagore 

b) National Anthem 2. Dr.Ambedkar 

c) AligarhMovement 3.Bakkim Chandra 

Chatterjee 

d) Bahiskrit Hitkarini 4.Sir Syed Ahmed 

Khan 

(a)  (b)   (c)   (d) 

A)   3   1   4   2 

B)   1   3   2   4 

C)   2   4   3   1 

D)    4   2   1   3  

48. Consider the following statement: 

Assertion (A):Retinopathy is the disease of the 

retina in Human eye 

Reason (R):Persistent hypertension and diabetes 

causes retinopathy 

Select your answer according to the coding 

scheme given below. 

A) Both (A) and (R) are true and (R) is the 

correct explanation of (A) 

B) Both (A) and (R) are true and (R) is not the 

correct explanation of (A)  

C) (A) is true but (R) is false  

D) (A) is false but (R) is true 
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49. Which of the following are the National sports 

Awards? 

(i) Rajiv Gandhi Khel Ratna Award 

(ii) Arjuna Awards 

(iii) Dhyan Chand Award  

(iv) Dronacharya Award 

A) (i), (ii) and (iii) only correct 

B) (ii) and (iv) are wrong 

C) (i), (ii), (iii) and (iv) correct 

D) (ii) and (iii) only is correct 

50. What is the rank of India in the 2016 Human 

development index? 

A) 127 B) 131       C) 145       D) 111 

51. Which country has became the world‘s first 
country to officially recognise Parkour as a 

sport? 

A) US   B) Singapore 

C) Malaysia  D) UK 

52. Who will be the head of the national social 

security council to be constituted under the code 

on social security & welfare 2017? 

 A) Narendra Modi B) Arun Jaitley 

 C) Rajnath Singh  D)Bandaru Dattatreya 

53. Match the following: 

(A) Balwantrai Mehta 1.Gram Sabha 

(B) Asokh Mehta  2.Nagar Palika 

(C) 73rd Amendment 3.Two-tier system 

(D) 74th Amendment 4.Three-tier system 

(A)       (B)     (C)      (D)  

A) 4  3 1 2  

B) 3  4  2 1  

C) 2  3  4  1  

D) 1  2  4 3  

54. Match the following 

(A)Women equality 

(B) Equality of 

opportunity 

(C)Renounces practices 

derogatory to the 

dignity of women 

(D)Humane conditions 

of work and for 

1. Article 16 

2. Article 14 

 

3. Article 42 

 

4.Article 

51(A)(e) 

maternity relief 

 (A) (B) (C) (D) 

A) 1 2 3 4 

B) 3 4 2 1 

C) 2 1 4 3 

D) 4 3 1 2 

55. Match the following: 

(A)Right to 

equality 

(B)Rightto  

freedom 

(C)Rightto freedom of 

religion 

(D)Rightagainst 

exploitation 

1. Article(25to  28) 

 

2.Article(23 and 24) 

 

3.Article(14 to  18) 

 

4.Article(19 to  22) 

 (A) (B) (C) (D) 

A)  

1 

  2   3   4 

B)  

4  

  3   2   1 

C)   

2 

  1   4   3 

D)   

3 

  4   1   2 

56. Math the following from list I with those in the 

list II and choose the correct answer from the 

list of answer given below : 

List I List II 

(A)BaghMilkaBagh 

(B) Dangal 

(C) Chakde 

(D) Mary Kom 

1. Boxing 

2. Hockey 

3. Wrestling 

4. Track 

running 

 (A) (B) (C) (D) 

A) 3 4 1 2 

B) 4 3 2 1 

C) 2 1 3 4 

D) 1 3 4 2 

57. Which amendment of the constitution omitted 

right to property as fundamental right? 

A) 44th Constitutional Amendment 
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B) 42nd Constitutional Amendment 

C) 43rd Constitutional Amendment  

D) 41st Constitutional Amendment 

58. Find the incorrect pair among the following  

A) Domestic Violence Act - 2005 

B) Right to Information Act - 2001 

C) Juvenile Justice Act - 2000 

D) Dowry Prohibition Act - 1961 

59. The book ‗Corruption in India‘ was written by 

A) SankarRao  B) Ram Ahuja 

C) Suresh Kohli  D) Gopalji 

60. Match List I and List II and select your answers 

using the codes given below : 

List I List II 

(A)Father of 

Revolutionary 

thought 

(B)Punjab Kesari 

(C)Father of 

Indian Unrest 

(D) Desabandhu 

1.BalaGangadara 

Tilak 

 

2.C.R. Das 

3.Bipin Chandra

 Pal 

4.LalalajpatRai 

 (A) (B) (C) (D) 

A)   2 1 3 4 

B)   1 3 2 4 

C)   3 4 1 2 

D)  3 2 1 4 
61. Match the following and select the correct 

answer : 

(A) TRAI  1. Stock market 

(B) SEBI  2. Export promotion 

(C) SEZ  3. Electricity 

(D) NTPC  4. Telecom 

 (A) (B) (C) (D) 

A)  4 1 3 2 

B)  4 1 2 3 

C)  4 3 2 1 

D)  3 4 2 1 
62. Who was the political Guru of Subhash Chandra 

Bose? 

A) BalaGahgadaraTilak B)Sarat Chandra Bose  

C) Chittaranjan Das D)Mahatma Gandhi 

63. Match the following: 

(A)HighestCivilian 1.Arjuna 

Award 

(B)National Sports 

Award 

(C)Wartime Gallantary 

Award 

(D)Courage and daring 

Enterprise Award 

 

2.ParamVir chakra 

 

3.KalpanaChawla 

 

4.Bharat Ratna 

 (A) (B) (C) (D) 

A)  4 2 1 3 

B)  4 1 2 3 

C)  1 4 3 2 

D) 4 3 2 1 
64. The distance to be covered by second phase of 

Chennai Metro Rail project will be 

 A) 107.5 km  B) 100 km 

 C) 124 km   D) 140.5 km 

65. In which Ocean Hurricanes are very common? 

 A) Pacific Ocean  B) Indian Ocean 

 C) Atlantic Ocean  D) Arctic Ocean 

66. Bamboo and Lianas trees are found in which 

type of Forest? 

 A) Tropical monsoon forests 

 B) Shrub and Thorn forests 

 C) Tropical evergreen forests 

 D) Mangrove forests 

67. Sixty machines can produce 4850 identical 

mobiles in 5 hours.  How many mobiles would 

25 machines produce in 6 hours? 

 A) 3215   B) 2425 

 C) 4250   D) 4210 

68. Standard deviation of first 7 natural numbers is 

 A) 7   B) √7 

 C) 4   D) 2 

69. B is twice as old as A, but half the age of F.  C 

is a half the age of A but twice the age of D.  

Which two persons form the pair of youngest 

and oldest? 

A) F and A  B) D and F 

C) B and F   D) F and C 

70. If 6% savings of the salary of a person is Rs. 

3,000.  Find his actual salary 

A) Rs. 40,000  B) Rs. 50,000 
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C) Rs. 45,000  D) Rs. 43,000 

71. What is the value of 3+4[4-{134(7+2)+6}+9]? 

A) 231   B) 213 

C) 123   D) 132 

72. Consider the statement: 

Assertion (A) : National Girl Child Day is 

celebrated on 24
th

 of January every year in 

India. 

Reason (R) : It is to raise awareness among 

people that boy child is not always a blessing 

Choose your answer from the options below: 

A) (A) is wrong but (R) is the correct 

explanation 

B) (A) is correct and (R) is a wrong explanation 

to A) 

C) (A) and (R) are correct.  But (R) is not a 

correct explanation to (A) 

D) Both (A) and (R) are correct and (R) is 

correct explanation to (A) 

73. Match the following and choose the correct 

answer from the codes given below 

(a) Dandi March        1. 1931 

(b) Karachi Congress        2. 1932 

(c) Third Round Table        3. 1930

 Conference 

(d) Lahore Congress       4. 1929 

 (a)  (b)   (c)  (d) 

A) 2 1 4 3 

B) 1 3 2 4  

C) 3 1 2 4 

D) 4 2 3 1  

74. If a certain sum of money amounts to Rs. 

16,940 in 6 years at 9%, with simple interest 

then find the principal amount. 

A) Rs. 11,500  B) Rs. 12,000 

C) Rs. 11,000  D) Rs. 11,900 

75. A can finish a work in 18 days and B can do the 

same work in 15 days.  B worked for 10 days 

and left the job.  In how many day, A alone can 

finish the remaining work? 

A) 5 days   B) 5 ½ days 

C) 6 days   D) 8 days 

76. Who was the First Finance Minister of 

Independent India?  

A) SardarVallabai Patel  

B) C. Rajagopalachari 

C) B.R. Ambedkar  

D) R.K. ShanmugamChettiyar 

77. Arrange the following items according to the 

chronological order : 

I. Simon Commission 

II. Gandhi Irwin Pact 

III. Third Round Table Conference 

IV. Dandi March 

A) II, I, IV, III  B) IV, III, II, I 

C) I, IV, II, III  D) I, IV, III, II 

78. Arrange the following in chronological order. 

I. Surat split 

II. Birth of the Muslim league 

III. Partition of Bengal  

IV. Reunion of Bengal 

A) IV, III, I, II  B) III, I, II, IV 

C) III, II, I, IV  D) II, III, I, IV  

79. Which of the following is correctly matched? 

I. Rajaji   - Pro-changers 

II. Vanchinathan  -Robert William Ashe 

III. K. Kamaraj  -Chief Minister of  

    Tamil Nadu in 1952 

IV. Sathyamurthy  - Mayor of Madurai  

A) I B) II  C)III  D)IV 

80. In India the first proclamation of national 

emergency under Article 352 was declared in 

the year  

A) 1961   B) 1962 

C) 1965   D) 1975 

81. According to the Article 170 of the Indian 

Constitution, the maximum limit of members in 

a Legislative Assembly is 

A) Not more than 500 and not less than 60 

members 

B) Not more than 400 and not less than 50 

members 

C) Not more than 300 and not less than 40 

members 
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D) Not more than 280 and not less than 30 

members 

82. The administrative vigilance division was 

created in 1955 by the 

A) Ministry of trade  

B) Ministry of home affairs 

C) Ministry of external, affairs  

D) Ministry of defense 

83. Match the following: 

Disease  Test 

 a) Leprosy   1.Glycosylated hemoglobin  

         test 

b) Typhoid fever   2.Lepromin test 

c) Tuberculosis   3.Widal test 

d) Diabetes   4.Mantoux test 

      (a)  (b)   (c) (d) 

A) 1 3 4 2 

B)  2 3 4 1 

C) 2 4 3 1  

 D) 3 2 1 4 

84. Who appointed Maharaja Ranjit Singh as the 

Governor of Lahore in 1799? 

A) Ahmed Shah Abdali B) Zaman Shah 

C) George Barlow  D) Lord Minto 

85. Which two leaders participated in the 1
st
 Round 

Table Conference held at London and explained 

the condition of the Harijans? 

1. Dr. B.R. Ambedkar  

2. Mahatma Gandhi 

3. IrattaiMalaiSreenivasan 

4. M.C. Raja 

A) 1 and 2 only  B) 1 and 3 only 

C) 2 and 4 only  D) 1 and 4 only 

86. Choose the wrong statements: 

I. Subhas Chandra Bose started the Forward 

Block party. 

II. He crossed the Indian Border on foot and 

reached Kabul. 

III. He did not meet Ribbentrop, the assistant of 

Hitler. 

IV. He was invited by Japanese Premies, Tojo. 

A) All the statements are wrong 

B) All the statements are correct 

C) I,II and III are correct IV is wrong 

D) I, II and IV are correct III is wrong 

87. What was the 2017 theme of ―International Day 
of Familities‖ observed on May 15,2017? 

A) Families, healthy lives end sustainable future 

B) Ensuring work family balance 

C) Families, education and well being 

D) Families for all ages 

88. Which country signs its first Agreement on 

Reconstruction of ARAK Reactor with china? 

A) Iraq   B) Iran 

C) Israel   D) Afganisthan 

89. Abbreviation of  OBOR stand for 

A) One Border One Road  

B) One Belt One Road 

C) One Belt One Region  

D) One Border One Region 

90. Which state has decided to sign MoU with the 

centre under PMBJP to provide  subsided 

medicine in the state? 

A) Himachal Pradesh B) West Bengal  

C) Assam   D) Goa 

91. Cost of 3 pencils and 5 erasers is Rs. 34 and cost 

of 2 pencils and 7 erasers  is Rs. 30 then cost of 

a pencil is 

A) Rs. 8   B) Rs. 5 

C) Rs. 4   D) Rs. 2 

92. If 
A

3
=

B

4
=

C

5
 then A:B:C is 

A) 3:4:5   B) 2:4:6 

C) 1:3:5   D) 2:4:8 

93. Find the wrong number in the series  

3, 8, 15, 24, 34, 48, 63 

A) 8   B) 63 

C) 34   D) 3 

94. Two numbers are in the ratio 1:2. If 7 is added 

to both their ratio changes to 3:5 then the 

greatest number is 

A) 17   B) 12 

C) 28   D) 36 

95. The ratio of two numbers is 5 : 6 and their  

LCM is 480, then their HCF is  
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A) 20   B) 16 

C) 6   D) 5 

96. 19
th

 session of Indian Italy joint commission  

for economic cooperation was held in 

A) Rome, Italy  B) Milan, Italy 

C) New Delhi, India D) Mumbai, India 

97. Which among the following will be the first  

Indian city to get electric radio cabs? 

A) Nagpur   B) Hyderabad 

C) Bengaluru  D) Surat 

98. Which of the following city became the first  

Indian city to win 2017 Pierre L‘Eufant 
International planning excellence award by 

American Planning Association (APA)? 

A) Chandigarh  B) Chennai 

C) Amaravati  D) Bhubaneshwar 

99. Which of the following versatile playback  

singer gets Ghantasala National Award? 

A) P.Susila  B) Vani Jayaram 

C) Asha Bhosle  D) Asha Parekh 

100. Who among the following has  

bagged men‘s player of the year award at 
second Golf Industry Association (GIA) 

awards? 

A) Ali Sher  B) SSB Chawrasia 

C) Adithi Ashok  D) Ashok Amirtharaj 
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